				Getting	On					Getting Out							Running Ba	ases		Getting Gone				A	verages				
	Games	Walks		Singles	Doubles	Trpls	Homers	At the Plate		On the Ground		In the Air		Other	On	Over		Out		Exits	Batting	g Avg.	On Ba	se %	Sluggir	ng %			
Player Name	GB GN	W* AW	IW 1*	1DB 1CI	2* 2GR	3	HR HY	KB KD KE KF KI KL KO I	P KS KU IOPOE	GO FC DP TP	FO LO	AKO TKO	TK2 TK3	uo /	PR BB X2	S2 S3 S	H C2 C3	СН ВООВ О	HB TB IOB	Ej In Su X	Hits A	AB BA	OB P	A OBP	TB A	B Slug	тов \varTheta т	OB/O SB SA	A RBI
0 W.Archer I	M 8 0	3 -	0 9	0 0	5 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	1 3 0 0	7 2	0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	14 2	27 0.519	17 3	0 0.567	19 2	7 0.704	20 2	10 0 0	0 14
00 B.Barrett	M 24 0	6 -	0 20	1 0	7 0	2	1 0	0 0 0 0 0 0 0	0 0 0 0	7 15 0 0	13 2	0 0	0 0	0 12	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	31 6	68 0.456	37 7	4 0.500	45 6	8 0.662	51 1	51 0 0	0 21
0 Cr.Johnson I	M 17 0	5 -	0 20	0 0	4 0	1	1 0	0 0 0 1 0 0 0	0 0 0 0	3 4 0 0	15 1	0 0	0 0	0 9	9 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	26 5	50 0.520	31 5	5 0.564	35 5	0 0.700	34 1	34 0 0	0 24
1 D.Covault	M 24 0	8 -	0 31	0 0	11 0	3	0 0	0 0 0 1 0 0 0	0 0 0 0	7 3 2 0	9 4	0 0	0 0	0 11	2 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	45 7	71 0.634	53 7	9 0.671	62 7	1 0.873	56 1	56 0	0 38
1 R.Crider	M 381 0	61 -	2 496	6 0 0	263 0	54	24 0	0 0 0 18 0 1 0	0 2 0 0 0	148 85 9 0	236 62	0 0	0 0	0 153	0 0 0	0 0 1	0 0	0 51 51	0 0 0	1 0 0 0	837 13	398 0.599	900 14	61 0.616	1280 13	98 0.916	961 51 1	8.84 1	1 431
2 S.Cuilli I	M 27 0	6 -	0 34	0 0	7 0	2	0 0	0 0 0 0 0 3 1	0 0 0 0	6 7 0 0	17 1	0 0	0 0	0 9	1 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	43 7	78 0.551	49 8	4 0.583	54 7	8 0.692	56 1	56 0	0 24
2 T.Frier	M 105 0	26 -	0 163	3 0 0	24 0	27	3 0	1 0 0 0 0 1 0	0 0 0 0	23 10 2 0	89 11	0 0	0 0	0 50	0 0 0	0 0 0	0 0	0 3 3	0 0 0	0 0 0 1	217 3	54 0.613	243 38	30 0.639	304 35	54 0.859	250 3 8	33.33 0 0	0 148
2 B.Holzmark I	M 2 0	0 -	0 3	0 0	0 0	0	0 0	0 0 0 0 0 1 0	0 0 0 0	0 0 0 0	4 0	0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	3	8 0.375	3 8	0.375	3 8	3 0.375	3 1	3 0 /	0 0
2 P.Isern I	M 39 0	3 -	0 43	0 0	9 0	5	3 0	0 0 0 1 0 1 0	1 0 0 0 0	25 6 4 0	22 5	0 0	0 0	0 19	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	60 12	25 0.480	63 12	28 0.492	88 12	25 0.704	66 2	33 0	0 40
2 J.Littrell I	M 18 0	12 -	0 20	0 0	2 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0 0	4 12 0 0	10 1	0 0	0 0	0 7	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	22 4	49 0.449	34 6	1 0.557	24 4	9 0.490	46 0	46+ 0	0 22
2 D.Yazge I	M 8 0	6 -	0 11	0 0	1 0	2	0 0	0 0 0 0 0 0 0	0 1 0 0 0	0 3 0 0	6 1	0 0	0 0	0 5	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	14 2	25 0.560	20 3	1 0.645	19 2	5 0.760	23 0	23+ 0	0 6
3 D.Bauer I	M 80 0	4 -	1 97	0 0	33 0	31	2 0	0 0 0 0 0 0 0	0 3 0 0 0	32 24 2 0	47 6	0 0	0 0	0 31	0 0 0	0 0 0	0 0	0 5 5	0 0 0	0 0 0 0	163 2	77 0.588	168 28	32 0.596	264 27	77 0.953	190 5	38 0	0 120
3 S.Clack	M 11 0	0 -	0 11	0 0	6 0	1	0 1	0 0 0 0 0 0 0	0 0 0 0 0	4 2 1 0	12 1	0 0	0 0	0 4	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	19 3	39 0.487	19 3	9 0.487	30 3	9 0.769	20 1	20 0 0	0 13
3 J.Fiscella I	M 9 0	0 -	0 13	0 0	5 0	3	0 0	0 0 0 0 0 0 0	0 0 0 0	5 1 0 0	4 0	0 0	0 0	0 5	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	21 3	31 0.677	21 3	1 0.677	32 3	1 1.032	22 2	11 0	0 11
3 J.Tyler	M 152 0	65 -	0 162	2 0 0	41 0	13	4 0	1 0 0 6 0 5 1	1 2 0 0 1	23 42 1 0	129 20	0 0	0 0	0 66	16 0 0	1 0 0	0 0	0 8 8	0 0 0	2 0 0 0	220 4	52 0.487	285 5	7 0.551	299 4	52 0.662	323 8 4	40.38 1 1	1 122
4 J.Allen	M 9 0	1 -	0 7	0 0	3 0	0	1 0	0 0 0 0 0 0 0	0 0 0 0 0	5 0 1 0	7 0	0 0	0 0	0 3	1 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	11 2	24 0.458	12 2	5 0.480	17 2	4 0.708	11 1	11 0	0 9
4 W.High	M 24 0	6 -	0 35	0 0	4 0	3	0 0	0 0 0 0 0 2 0	0 0 0 0 0	12 4 0 0	14 2	0 0	0 0	0 12	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 1	42 7	76 0.553	48 8	2 0.585	52 7	6 0.684	52 1	52 0 0	0 17
4 A.Matz	M 55 0	15 -	1 58	0 0	22 0	8	2 0	0 0 0 0 0 0 0	0 0 0 0 0	14 16 3 0	30 7	0 2	0 0	0 28	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	90 1	62 0.556	106 17	78 0.596	134 16	62 0.827	120 0	120+ 0	0 56
4 T.Moon	M 73 0	13 -	0 71	0 0	24 0	10	4 8	0 0 0 2 0 4 0	1 2 0 0 0	14 19 0 0	70 6	0 1	0 0	0 42	0 0 0	0 0 0	0 0	0 5 5	0 0 0	0 0 0 0	117 2	36 0.496	130 24	9 0.522	197 23	36 0.835	137 5	27.4 0 0	0 100
4 C.Sprague I	M 36 0	1 -	0 66	0 0	12 0	2	1 0	0 0 0 1 0 0 0	0 0 0 0 0	10 5 1 0	24 4	0 0	0 0	0 18	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	81 1:	26 0.643	82 12	27 0.646	100 12	26 0.794	86 2	43 0	0 25
5 T.McCoy	M 596 0	144 -	1 819	9 0 0	202 0	129	56 0	0 0 0 6 0 3 0	0 0 0 0 0	191 98 22 0	359 89	0 0	0 0	0 264	2 0 0	0 0 0	0 0	0 17 17	1 0 0	0 0 0 2	1206 19	974 0.611	1351 21	19 0.638	1834 19	74 0.929	1393 17 8	31.94 0	0 986
6 J.Law	M 9 0	8 -	0 4	0 0	2 0	0	0 0	0 0 0 0 0 1 0	0 0 0 0 0	4 2 0 0	4 0	0 0	0 0	0 4	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	6 1	17 0.353	14 2	5 0.560	8 1	7 0.471	16 0	16+ 0	0 3
6 G.Thomas I	M 50 0	6 -	0 56	0 0	11 0	3		0 0 0 0 0 0	!	12 10 2 0	51 7	0 0	0 0	0 33	1 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	70 1:	53 0.458	76 15	59 0.478	87 15	3 0.569	86 1	86 0 0	0 41
6 Bb.Wright I	M 134 0			6 0 0	50 0	9	2 0	0 0 0 2 0 4 0	0 2 0 0 0		1	:	<u> </u>				-	 	:					54 0.544		+		<u> </u>	0 117
Player Name	GB GN				2* 2GR	3	HR HY	KB KD KE KF KI KL KO I	P KS KU IOPOE		<u> </u>	•							HB TB IOB									OB/O SB SA	A RBI
= -u y	Games			Singles	Doubles	1 1		At the Plate		On the Ground		In the Air		Other	On	Over		Out		Exits		g Avg.	On Ba		Sluggii	_			
▲ Name of Player	1		•	Getting	On					Getting Out			•				Running Ba			Getting Gone					verages	•		•	
Players shown in bold, co Players shown in colored	lored font are curren ▲ Games Pla GB = Game BN = Game	tly Subs on one o ayed Batted	r more teams ▲ Sing 1* = 0 1DB = 1CI - ght Walk d Walk (Coed	gles nly straight Singl = Dead Ball Sing Catcher Interfer	gle rence	I I I Triples 3 = Triple ht Double	9	ver the Fence (Yard) KE = Strikeout - KF = Strikeout - KI = Strikeout - KL = Strikeout KO = Strikeout KP = Strikeout	out of Batter's Box Delay of Game Batter Elsewhere Fouls Illegal Bat - Looking t - Unknown it - Stepped on Plate	GO = Ground Out	TK2 = Doub		ence t Over Fence		n Out ing Out ▲ Getting On PR = Pinch Ran BB = Base Burgl	S3 = Stole 3B SH = Stole Ho	C2 = Caught C3 = Caugh me CH = Caug BOOB = B Θ = BOOE HB = Hit I TB = Tou	Stealing Second	Base h	▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	▲ How Often Hits = 1+2+3 AB = At BAt Hits+0 BA = Batting	B+H C t Outs F ig Average	B = On Base W+1+2+ PA = Plate Ap Walks+	T	3 = Total Ba 1+(2x2)+(3x B = At BAt Hits+Ou	ses To 3)+(Hx4)	How Often Out OB = Time On B W+1+2+3+FC D = BOOBs+C2- TOB/O	Base 5+PR+BB+X2 +C3+CH ▲ How Off SB = Stolen S2+S3+S SA = Steal A	+SH
		ivv - intention	ai vvälk			•		IOP = Inter	ut - Swinging out Umpire's Discretion tional Out at the Plate al Out Due to Ejection																			Runs You Drive In RBI = Runs Batte	ln ▲

OE = Official Out Due to Ejection

				Getting	On							Getting C)ut								Running B	ases			Getting Gone					Average	es				
	Games	Walks	Si	ngles	Doubles	Trpls	Homers		At the	e Plate		On the G	Fround		In the A	ir	Other	On	ı	Over		Out	t		Exits	Batti	ing Avg.	On	Base %	Slu	gging %				
Player Name	GB GN	W* AW	IW 1*	1DB 1CI	2* 2GF	R 3	HR HY	KB KD KE	KF KI K	L KO KP I	KS KU IOPOE	GO FC	DP TP	FO LO	AKO TK	KO TK2 TK	3 UO /	PR BI	B X2	S2 S3 SI	H C2 C3	CH BOOB	О нв	TB IOB	Ej In Su X	Hits	AB BA	OB	PA OBP	TB	AB Slug	g TOB	Θ ΤΟΒ/Θ	SB SA	RBI
7 R.Burks	M 51 0	20 -	0 57	0 0	16 0	7	3 0	0 0 0	1 0 C	0 0 0	0 0 0 0	15 8	1 0	34 10	0 0	0 0	0 2	5 0 0	0	0 0 0	0 0	0 3	3 0	0 0	0 0 0 0	83	152 0.546	103	172 0.599	9 122	152 0.80	03 108	3 36	0 0	61
7 J.Culligan	M 112 0	49 -	0 156	0 0	46 0	22	2 0	0 0 0	3 0 1	1 0 0	0 0 0 0	19 22	0 0	67 11	0 0	0 0	0 3	4 27 0	0	0 0 0	0 0	0 7	7 0	0 0	0 0 0 0	226	349 0.648	275	398 0.69°	1 322	349 0.92	23 295	7 42.14	0 0	154
7 S.Garner	M 20 0	4 -	0 26	0 0	5 0	3	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	9 3	1 0	12 3	0 0	0 0	0 8	0 0	0	0 0 0	0 0	0 1	1 0	0 0	0 0 0 0	34	62 0.548	38	66 0.576	6 45	62 0.72	26 41	1 41	0 0	23
7 M.Garrett	M 9 0	0 -	0 4	0 0	3 0	6	3 0	0 0 0	0 0 0	0 0 0	0 0 0 0	2 3	0 0	6 0	0 0	0 0	0 6	0 0	0	0 0 0	0 0	0 1	1 0	0 0	0 0 0 0	16	27 0.593	16	27 0.593	3 40	27 1.48	31 16	1 16	0 0	13
7 S.Hodgson	M 7 0	0 -	0 9	0 0	2 0	0	0 0	0 0 0	0 0 0	0 0	0 0 0 0	0 3	0 0	7 0	0 0	0 0	0 2	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	11	21 0.524	11	21 0.52	13	21 0.6	19 14	0 14+	0 0	0
7 S.McNair	M 6 0	1 -	0 9	0 0	0 0	0	0 0	0 0 0	1 0 C	0 0	0 0 0 0	2 0	0 0	6 0	0 0	0 0	0 1	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	9	18 0.500	10	19 0.526	j 9	18 0.50	00 10	0 10+	0 0	1
7 S.Sullivan	M 8 0	3 -	0 16	0 0	0 0	0	0 0	0 0 0	0 0 0	0 0	0 0 0 0	1 4	0 0	2 1	0 0	0 0	0 3	0 0	0	0 0 0	0 0	0 1	1 0	0 0	0 0 0 0	16	24 0.667	19	27 0.704	4 16	24 0.66	67 23	1 23	0 0	7
8 Q.Cowans	M 63 0	11 -	0 64	0 0	22 1	11	5 0	0 0 0	1 0 C	0 0	1 0 0 0	22 9	0 0	57 4	0 1	0 0	0 3	2 0 0	0	0 0 0	0 0	0 4	4 0	0 0	0 0 0 0	103	198 0.520	114	209 0.54	5 163	198 0.82	23 118	4 29.5	0 0	69
8 S.Shreve	M 82 2	16 -	0 100	0 0	26 0	12	9 1	0 0 0	1 0 2	2 0 1	1 0 0 0	15 17	6 0	82 7	0 0	0 0	0 4	5 1 0	0	0 0 0	0 0	0 4	4 0	0 0	0 0 0 0	148	280 0.529	164	296 0.554	4 228	280 0.8	4 171	4 42.75	0 0	126
8 E.Wesner	M 32 0	2 -	0 43	0 0	5 0	2	0 0	0 0 0	0 0 0	0 0	0 0 0 0	5 11	0 0	31 5	0 0	0 0	0 1	7 6 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	50	102 0.490	52	104 0.500	59	102 0.57	78 63	0 63+	0 0	40
9 Ti.Alvis	M 76 0	16 -	0 94	0 0	10 0	3	0 0	0 0 0	0 0 1	1 0 0	0 0 0 0	37 7	7 0	51 17	0 0	0 0	0 4	6 0 0	0	0 0 0	0 0	0 7	7 0	0 0	0 0 0 0	107	227 0.471	123	243 0.506	6 123	227 0.54	130	7 18.57	0 0	60
9 C.Gilbert	M 1 0	1 -	0 2	0 0	0 0	0	0 0	0 0 0	0 0 0	0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	2	2 1.000	3	3 1.000) 2	2 1.00	00 3	0 3+	0 0	2
9 E.J.Keys	M 5 0	1 -	1 2	0 0	4 0	0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	1 1	0 0	6 0	0 0	0 0	0 3	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	6	14 0.429	8	16 0.500	0 10	14 0.7	14 9	0 9+	0 0	4
9 S.Morgan	M 12 0	6 -	0 16	0 0	4 0	0	0 0	0 0 0	1 0 1	1 0 0	0 0 0 0	1 5	0 0	9 1	0 0	0 0	0 7	0 0	0	0 0 0	0 0	0 2	2 0	0 0	0 0 0 0	20	38 0.526	26	44 0.59	1 24	38 0.63	32 31	2 15.5	0 0	8
9 J.Newman	M 9 0	1 -	0 9	0 0	0 0	0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	4 3	0 0	10 0	0 0	0 0	0 6	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	9	26 0.346	10	27 0.370	9	26 0.34	46 13	0 13+	0 0	3
9 T.Rice	M 27 0	16 -	0 25	0 0	6 0	1	0 0	0 0 0	0 0 3	3 0 0	0 0 0 0	6 9	0 0	11 1	0 0	0 0	0 8	4 0	0	0 0 0	0 0	0 2	2 0	0 0	0 0 0 0	32	62 0.516	48	78 0.61	5 40	62 0.64	45 57	2 28.5	0 0	18
10 D.Humphrey	M 18 0	2 -	0 19	0 1	4 0	1	4 0	0 0 0	1 0 C	0 0 0	1 0 0 0	2 4	0 0	20 1	0 0	0 0	0 8	1 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	29	58 0.500	31	60 0.517	7 47	58 0.8	0 31	0 31+	0 0	23
10 N.Mapp	M 241 0	70 -	0 339	2 0	52 0	15	5 0	0 0 0	6 0 2	2 0 1	3 0 0 0	108 60	7 0	93 33	0 0	0 0	0 11	5 0 0	0	0 0 0	0 0	0 10	10 0	0 0	0 0 0 0	413	726 0.569	483	796 0.607	7 510	726 0.70	02 538 ·	10 53.8	0 0	228
11 T.Fincher	M 17 0	7 -	0 29	0 0	7 0	0	0 0	0 0 0	0 0 2	2 0 1	0 0 0 0	2 3	0 0	12 3	0 0	0 0	0 9	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	36	59 0.610	43	66 0.652	2 43	59 0.72	29 46	0 46+	0 0	29
11 M.Johnson	M 2 0	1 -	0 3	0 0	2 0	0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	5	5 1.000	6	6 1.000) 7	5 1.40	00 6	0 6+	0 0	3
11 M.Rowland	M 13 0	2 -	0 13	0 0	3 0	0	0 0	0 0 0	0 0 0	0 0 0	0 0 0 0	3 1	1 0	13 4	0 0	0 0	0 8	0 0	0	0 0 0	0 0	0 1	1 0	0 0	0 0 0 0	16	38 0.421	18	40 0.450	0 19	38 0.50	00 19	1 19	0 0	10
11 M.Rubio	M 7 0	0 -	0 6	0 0	2 0	0	0 0	0 0 0	1 0 C	0 0	0 0 0 0	1 3	0 0	5 0	0 0	0 0	0 4	0 0	0	0 0 0	0 0	0 0	0 0	0 0	0 0 0 0	8	18 0.444	8	18 0.44	10	18 0.55	j6 11	0 11+	0 0	4
11 C.Starnes	M 28 0	2 -	0 30	0 0	16 0	5	3 1	0 0 0	0 0 0	0 0	0 0 0 0	7 5	0 0	22 5	0 0	0 0	0 1	0 0	0	0 0 0	0 0	0 4	4 0	0 0	0 0 0 0	55	94 0.585	57	96 0.594	93	94 0.98	39 58	4 14.5	0 0	40
11 A.Waight	M 27 0	9 -	0 24	0 0	6 0	3	1 0	0 0 0	0 0 2	2 0 0	0 0 0 0	0 7	1 0	27 6	0 0	0 0	0 1	8 0 0	0	0 0 0	0 0	0 1	1 0	0 0	0 0 0 0	34	77 0.442	43	86 0.500	0 49	77 0.63	36 49	1 49	0 0	28
Player Name	GB GN	W* AW	IW 1*	1DB 1CI	2* 2GF	R 3	HR HY	KB KD KE	KF KI K	L KO KP I	KS KU IOPOE	GO FC	DP TP	FO LO	AKO TK	о тка тк	3 UO /	PR BI	B X2	S2 S3 SI	H C2 C3	СН ВООВ	О нв	TB IOB	Ej In Su X	Hits	AB BA	OB	PA OBP	ТВ	AB Slug	g TOB	О ТОВ/О	SB SA	RBI
	Games	Walks	Si	ngles	Doubles	Trpls	Homers		At th	e Plate		On the G	Fround		In the A	ir	Other	On	1	Over		Out	t		Exits	Batt	ing Avg.	On	Base %	Slu	gging %				
▲ Name of Player					On							Getting C)ut								Running B	ases			Getting Gone					Averag	es				
				teams.			 	<u> </u>					Ground A	Outs in the	Air				▲ S′	Getting Over	▲ Getting O	ot Stealing Secon	nd											se	I
·					1	1	HR = Homer Ir		KD = St	Strikeout - Delay	y of Game	FC = Fielder's	Choice	LO = Line Ou	t				S	33 = Stole 3B	C3 = Caug	ht Stealing Third	i		n = Injury	AB = At I	BAt	W+1	I+2+3+H	1+(2x2)	+(3x3)+(Hx4)	W+1+2+	+3+FC+PR+E		I
			1* = only 1DB = D	straight Singl	ماد	1		Over the Fence (Ya						TKO = Strike	natic TKO eout - Hit Ove	er Fence			On	SH = Stole Hor	me CH = Cauç BOOB = E	gnt Stealing Horr Baserunner Out (ne On Base					Wa	lks+Hits+Outs	Hits	+Outs	ΤΟΒ/Θ			0-4- 04-
	DIV - Game		1CI - Ca	tcher Interfer	ranca				KI = S	Strikeout - Illega	al Bat			TK2 = Doub	ole Strikeout	- Hit Over Fend					Θ = ΒΟΟ	Bs+C2+C3+CH					0 0	OBP = O	n Base %age	Slug = §	lugging %age			▲ How Often B = Stolen Ba	
S SSS	S2+S3+SH																																		
					2GR = Groun	ignt Doubl nd Rule Do	ie ouble		KP:	= Strikeout - St	tepped on Plate								·			ntentional Out or	n Base										S	SA = Steal Ave SB / (SB+0	rage 22+C3+Cl
		ivv - milemiona	ı vvaik						KS KI	s = Strikeout - S U = Strikeout Ui	mpire's Discretion																						Pune V	,	
									IC	OP = Intentional	Out at the Plate																								

				Gettii	ng On					Getting Out							Running Ba	ses		Getting Gone				A	verages				
	Games	Wal	ks	Singles	Double	es Trpl	s Homers	At the Plate		On the Ground		In the Air		Other	On	Over		Out		Exits	Battiı	ng Avg.	On B	ase %	Sluggi	ng %			
Player Name	GB GN	W* AV	V IW	1* 1DB 10	CI 2* 20	GR 3	HR HY	KB KD KE KF KI KL KO	KP KS KU IOPOE	GO FC DP TP	FO LO	AKO TKO	TK2 TK3	uo /	PR BB X2	S2 S3 S1	H C2 C3	СН ВООВ О	HB TB IOB	Ej In Su X	Hits	AB BA	OB 1	PA OBP	TB A	AB Slug	тов О	TOB/Θ SB S	SA RBI
11 J.Wright	M 6 0	0 -	0	2 0 0	1	0 0	1 0	0 0 0 0 0 0 0	0 0 0 0	2 2 0 0	9 1	0 0	0 0	0 8	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	4	18 0.222	4	18 0.222	8	18 0.444	5 1	5 0	0 4
12 D.Binder	M 43 0	21 -	0	48 0 0	11	0 7	0 0	0 0 0 1 0 2 0	0 0 0 0	11 11 0 0	36 6	0 0	0 0	0 14	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	66	133 0.496	87	154 0.565	91 1	133 0.684	98 1	98 0	0 61
12 B.McElhaney	M 10 0	1 -	0	11 0 0	0	0 0	0 0	0 0 0 0 0 0 0	0 0 0 0 0	4 1 0 0	8 3	0 0	0 0	0 3	5 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	11	27 0.407	12	28 0.429	11	27 0.407	13 1	13 0	0 11
12 J.Poulos	M 14 0	2 -	0	20 0 0	6	0 0	0 0	0 0 0 0 0 0 0	0 0 0 0 0	6 4 0 0	7 2	0 0	0 0	0 6	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	26	45 0.578	28	47 0.596	32	45 0.711	32 1	32 0	0 18
13 R.McCoy	M 621 0	143 -	3	808 1 0	152	0 39	11 0	0 0 0 34 0 9 1	0 10 0 3 0	249 144 44 0	343 97	0 0	0 0	0 331	7 0 0	0 0 0	0 0	0 41 41	0 0 0	0 0 0 1	1011	1942 0.521	1157 2	088 0.554	1274 1	942 0.656	1290 41	31.46 0	0 656
14 J.Heath	M 12 0	4 -	0	9 0 0	1	0 2	0 0	0 0 0 0 0 0 0	0 0 0 0 0	4 7 1 0	9 1	0 0	0 0	0 7	2 0 0	0 0 0	0 0	0 1 1	1 0 0	0 0 0 0	12	34 0.353	16	38 0.421	17	34 0.500	23 1	23 0	0 13
14 D.Selman	M 8 0	0 -	0	10 0 0	1	0 0	0 0	0 0 0 1 0 0 0	0 0 0 0 0	1 2 0 0	8 1	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	11	24 0.458	11	24 0.458	12	24 0.500	13 0	13+ 0	0 5
14 J.Sumner	M 11 0	7 -	0	11 0 0	4	0 2	0 0	0 0 0 0 0 1 0	0 0 0 0 0	4 2 1 0	4 0	0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	17	29 0.586	24	36 0.667	25	29 0.862	26 2	13 0	0 8
15 A.Epstein	M 17 0	4 -	0	23 0 0	5	0 1	1 0	0 0 0 0 0 0 0	0 0 0 0 0	2 5 0 0	19 0	0 0	0 0	0 10	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	30	56 0.536	34	60 0.567	40	56 0.714	38 1	38 0	0 24
15 D.Fisher	M 100 0	28 -	0	124 0 0	19	0 13	5 0	0 0 0 0 0 0 0	0 0 0 0 0	18 25 3 0	89 9	0 0	0 0	0 37	13 0 0	0 0 0	0 0	0 5 5	1 0 0	0 0 0 0	161	305 0.528	189 3	333 0.568	221 3	305 0.725	209 5	41.8 0	0 101
15 C.Keagle	M 10 0	3 -	0	6 0 0	5	0 1	0 0	0 0 0 1 0 0 0	0 0 0 0 0	1 0 1 0	12 0	0 0	0 0	0 6	3 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	12	27 0.444	15	30 0.500	19	27 0.704	15 1	15 0	0 7
15 T.Purvis	M 1 0	0 -	0	1 0 0	0	0 0	0 0	0 0 0 0 0 0 0	0 0 0 0 0	1 0 0 0	1 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1	3 0.333	1	3 0.333	1	3 0.333	1 0	1+ 0	0 0
16 J.Ellis	м 9 0	4 -	0	8 0 0	4	0 1	0 0	0 0 0 1 0 0 0	0 0 0 0 0	2 2 0 0	9 0	0 0	0 0	0 4	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	13	27 0.481	17	31 0.548	19	27 0.704	19 1	19 0	0 11
16 J.Henry	M 18 0	1 -	0	13 0 0	11	0 3	0 0	0 0 0 0 0 0 0	0 0 0 0 0	2 2 0 0	20 3	0 3	0 0	0 12	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	27	57 0.474	28	58 0.483	44	57 0.772	30 0	30+ 0	0 25
17 J.Carper	M 36 0	8 -	0	37 0 0	14	0 9	1 0	0 0 0 1 0 0 0	0 0 0 0 0	7 3 0 0	35 2	0 4	0 0	0 10	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	61	113 0.540	69	121 0.570	96 1	113 0.850	71 2	35.5 0	0 51
17 T.Hoier	M 9 0	0 -	0	10 0 0	2	0 2	1 0	0 0 0 0 0 0 0	0 0 0 0 0	1 2 0 0	11 0	0 0	0 0	0 5	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	15	29 0.517	15	29 0.517	24	29 0.828	16 2	8 0	0 10
18 G.Gershoff I	M 16 0	2 -	0	25 0 0	0	0 0	0 0	0 0 0 0 0 0 0	0 0 0 0 0	3 10 3 0	8 0	0 0	0 0	0 14	1 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	25	49 0.510	27	51 0.529	25	49 0.510	37 1	37 0	0 11
18 P.Price	M 22 0	5 -	0	23 0 0	6	1 5	1 1	0 0 0 0 0 3 0	0 0 0 0 0	6 8 0 0	16 3	0 0	0 0	0 15	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	37	73 0.507	42	78 0.538	60	73 0.822	48 2	24 0	0 26
19 D.Koroscil	M 4 0	0 -	0	5 0 0	1	0 1	0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 1 1 0	2 1	0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	7	12 0.583	7	12 0.583	10	12 0.833	8 0	8+ 0	0 4
19 Jr.Smith	M 123 0	23 -	0	188 0 0	32	0 11	1 0	0 0 0 0 0 4 0	0 0 0 0 0	37 41 4 0	86 12	0 0	0 0	0 56	35 0 0	0 0 0	0 0	0 10 10	0 0 0	0 0 0 0	232	416 0.558	255	139 0.581	289 4	116 0.695	295 10	29.5 0	0 104
20 J.Alonso I	M 29 0	8 -	0	35 0 0	6	0 8	2 0	0 0 0 0 0 0 0	0 0 0 0 0	5 1 0 0	35 2	0 1	0 0	0 14	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	51	95 0.537	59	103 0.573	79	95 0.832	58 2	29 0	0 39
20 L.Humphries I	M 72 0	13 -	0	104 0 0	27	0 4	2 0	0 0 0 0 0 2 0	0 1 0 0 0	25 7 1 0	53 8	0 0	0 0	0 38	0 0 0	0 0 0	0 0	0 4 4	0 0 0	0 0 0 0	137	234 0.585	150 2	247 0.607	178 2	34 0.761	155 4	38.75 0	0 107
20 S.Parks	м 9 0	3 -	0	11 0 0	0	0 0	1	0 0 0 0 0 0 0	!	1 5 0 0	1	<u> </u>								0 0 0 0	1					25 0.440			0 5
21 D.Marquez	M 28 0	6 -	0	33 0 0	5	0 2	1 0	0 0 0 2 0 0 0	0 1 0 0 0	6 9 1 0	1	<u> </u>	- 1				+	- !	:		ł	82 0.500		88 0.534		82 0.646			0 22
Player Name	GB GN	1	v iw	1* 1DB 10	T 2* 20	GR 3	HR HY	KB KD KE KF KI KL KO	KP KS KU IOPOE		l .	•						•		Ej In Su X	<u>. </u>							TOB/O SB S	
,	Games			Singles			ls Homers			On the Ground	1	In the Air		Other	On	Over		Out		Exits		ng Avg.		ase %	Sluggi	_			
▲ Name of Player	1			Getti	ng On	-	-			Getting Out	•						Running Ba			Getting Gone		•			verages			•	
Players shown in bold, co Players shown in colored	font are current Games Pla GB = Game I BN = Game	ly Subs on one yed Batted	e or more to	eams. Singles = only straight Si DB = Dead Ball S CI - Catcher Inter Coed)	ingle ference Doubles 2* = only si	 	les ple ble	nside the Park Over the Fence (Yard) KE = Strikeout KF = Strikeout KI = Strikeout KI = Strikeout KL = Strikeout KC = Strikeou	Out of Batter's Box Delay of Game Batter Elsewhere - Fouls - Illegal Bat t - Looking ut - Unknown ut - Stepped on Plate out - Swinging	GO = Ground Out	TK2 = Doub	t	ence : Over Fence		Out ng Out Getting On PR = Pinch Ran BB = Base Burgl		C2 = Caught C3 = Caugh me CH = Caugh BOOB = Ba O = BOOB HB = Hit b TB = Tou	Stealing Second	ase	▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2 AB = At B Hits	+3+H (At +Outs ing Average	OB = On Bas W+1+2 PA = Plate A Walks	se T	B = Total Ba 1+(2x2)+(3 AB = At BAt Hits+C	0x3)+(Hx4) Outs	TOB = Time Or	Base C+PR+BB+X2 2+C3+CH ▲ How C SB = Stole S2+S3 SA = Stea	Often Safe St en Base 3+SH
								KU = Strike IOP = Inte	out Umpire's Discretion ntional Out at the Plate tial Out Due to Ejection																			Runs You Drive RBI = Runs Bat	

OE = Official Out Due to Ejection

	_		_	Getting (On								Getting Ou	t								ŀ	Running I	Bases				Getting	Gone					Aver	ages					
	Games	Walks	Sing	gles	Doubles	Trpls	Homers		At	the Plate			On the Gr	ound		In the	Air		Other	On		Over			Out			Exit	s	Batting	Avg.	On	Base %	S	Slugging	%				
Player Name	GB GN	W* AW I	W 1* 1E	B 1CI	2* 2GR	3	HR HY	KB KD KE	kf KI	KL KO K	P KS KU I	OPOE	GO FC	DP TP	FO L) AKO	гко тк	2 TK3	uo /	PR BB X	K2 S2	S3 SH	C2 C3	3 CH	воов 🥃) HB	TB IOB	Ej In	Su X H	lits A	B BA	OB	PA OF	P TI	3 AB	Slug	тов 🤅	TOB/O	SB SA	RBI
21 M.Nations N	<i>I</i> 80 0	40 -	0 105 1	0	39 0	14	5 1	0 0 0	0 0	0 0 0	3 0	0 0	11 19	0 0	62	0	0 0	0	0 24	0 0	0 0	0 0	0 0	0	8 8	0	0 0	0 0	0 0 1	65 26	7 0.618	205	307 0.	668 25	0 267	0.936	218 8	3 27.25	0 0	106
21 K.Ullengren N	<i>1</i> 8 0	0 -	0 5 0	0	0 0	0	0 0	0 0 0	0 0	0 0 0	0 0	0 0	3 4	1 0	7	0	0 0	0	0 5	0 0	0 0	0 0	0 0	0	0 0	0	0 0	0 0	0 0	5 2	1 0.238	5	21 0.	238 5	21	0.238	9 () 9+	0 0	0
22 Tr.Alvis N	<i>t</i> 58 0	4 -	0 70 0	0	23 0	6	2 0	0 0 0	0 0	0 0 0	0 0	0 0	20 15	3 0	50	0	0 0	0	0 35	0 0	0 0	0 0	0 0	0	5 5	0	0 0	0 0	0 0 1	01 19	0.532	105	194 0.	541 14	2 190	0.747	118 5	5 23.6	0 0	73
22 J.Brivette N	<i>1</i> 29 0	4 -	0 26 0	0	13 0	4	0 0	0 0 0	0 0	0 0 0	0 0	0 0	3 7	2 0	24	0	0 0	0	0 17	0 0	0 0	0 0	0 0	0	3 3	0	0 0	0 0	0 0	13 8	1 0.531	47	85 0.	553 64	81	0.790	54 3	3 18	0 0	35
22 B.Murphy N	11 0	3 -	0 11 0	0	3 0	3	1 0	0 0 0	0 0	0 0 0	0 0	0 0	4 1	1 0	6	0	0 0	0	0 3	0 0	0 0	0 0	0 0	0	1 1	0	0 0	0 0	0 0	18 3	1 0.581	21	34 0.	30	31	0.968	21 1	1 21	0 0	15
22 I.Ruyle N	<i>A</i> 37 0	17 -	0 38 0	0	8 0	4	1 0	0 0 0	0 0	0 0 0	0 0	0 0	7 6	0 0	35	0	0 0	0	0 20	0 0	0 0	0 0	0 0	0	1 1	0	0 0	0 0	0 0	51 10	4 0.490	68	121 0.	562 70	104	0.673	73 1	1 73	0 0	33
22 B.Sarubbi N	<i>1</i> 78 0	12 -	0 86 0	0	31 0	13	1 0	0 0 0	0 0	0 0 1	1 1 0	0 0	20 14	9 0	55	0	0 0	0	0 38	4 0	0 0	0 0	0 0	0	2 2	0	0 0	0 0	1 0 1	31 23	8 0.550	143	250 0.	572 19 ⁻	238	0.803	156 2	2 78	0 0	95
23 M.Lewandowski N	42 0	13 -	0 25 (0	19 0	11	5 1	0 0 0	1 0	1 0 0	0 0	0 0	7 2	0 0	45	3 0	5 0	0	0 24	0 0	0 0	0 0	0 0	0	3 3	0	0 0	0 0	0 0 6	61 12	5 0.488	74	138 0.	536 120) 125	0.960	70 3	3 23.33	0 0	60
23 R.Orgeron N	<i>1</i> 8 0	1 -	0 6 (0	1 0	0	0 0	0 0 0	0 0	0 0 0	0 1 0	0 0	0 2	0 0	7	0	0 0	0	0 3	2 0	0 0	0 0	0 0	0	1 1	0	0 0	0 0	0 0	7 1	7 0.412	8	18 0.	444 8	17	0.471	10 1	l 10	0 0	3
24 T.Foss N	162 0	49 -	1 232 (0	63 0	15	4 0	0 0 0	0 0	3 0 0	0 0	0 0	76 37	5 0	82 2	4 0	0 0	0	0 65	0 0	0 0	0 0	0 0	0	26 26	3 2	0 0	1 0	0 0 3	14 54	1 0.580	364	591 0.	616 419	3 541	0.774	397 2	6 15.27	0 0	195
24 K.Richardson N	10 0	1 -	0 18 0	0	0 0	2	0 0	0 0 0	0 0	0 0 0	0 0	0 0	1 1	0 0	9	0	0 0	0	0 3	0 0	0 0	0 0	0 0	0	1 1	0	0 0	0 0	0 0 2	20 3	2 0.625	21	33 0.	636 24	32	0.750	22 1	1 22	0 0	8
24 S.Venzon N	2 0	0 -	0 1 0	0	0 0	0	0 0	0 0 0	1 0	0 0 0	0 0	0 0	0 0	0 0	2 (0	0 0	0	0 3	0 0	0 0	0 0	0 0	0	0 0	0	0 0	0 0	0 0	1 4	0.250	1	4 0.	250 1	4	0.250	1 0) 1+	0 0	0
25 G.Chaney N	<i>n</i> 36 0	3 -	0 56 0	0	10 0	4	5 0	0 0 0	0 0	0 0 0	0 0	0 0	12 6	0 0	27	3 0	0 0	0	0 25	0 0	0 0	0 0	0 0	0	3 3	0	0 0	0 0	0 0	75 12	8 0.586	78	131 0.	595 10	128	0.844	79 3	3 26.33	0 0	57
25 J.Godwin N	<i>1</i> 36 0	4 -	0 45 0	0	22 0	1	0 0	0 0 0	2 0	3 0 0	1 0	0 0	3 8	0 0	28	3 0	9 0	0	0 26	0 0	0 0	0 0	0 0	0	3 3	0	0 0	0 0	0 0 6	88 12	5 0.544	72	129 0.	558 92	125	0.736	80 3	3 26.67	0 0	45
25 S.Mohr N	<i>I</i> I 36 1	20 -	0 34 0	0	13 0	6	1 0	0 0 0	1 0	1 0 0	0 0	0 0	8 8	0 0	21	0	0 0	0	0 13	0 0	0 0	0 0	0 0	0	0 0	0	0 0	0 0	0 0 5	54 9	7 0.557	74	117 0.	632 82	97	0.845	81 0	81+	0 0	47
25 AJ.Odom N	<i>1</i> 8 0	2 -	0 6 0	0	1 0	2	0 0	0 0 0	0 0	0 0 0	0 0	0 0	3 2	0 0	8	0	0 0	0	0 7	0 0	0 0	0 0	0 0	0	1 1	0	0 0	1 0	0 0	9 2	3 0.391	11	25 0.	140 14	23	0.609	13 1	1 13	0 0	6
26 A.Dale N	<i>1</i> 8 0	6 -	0 6 0	0	1 0	0	0 0	0 0 0	0 0	0 0 0	0 0	0 0	0 2	0 0	11 (0	0 0	0	0 3	0 0	0 0	0 0	0 0	0	1 1	0	0 0	0 0	0 0	7 2	0.350	13	26 0.	500 8	20	0.400	15 1	1 15	0 0	8
26 B.Jacobsen N	1 1 0	0 -	0 2 0	0	0 0	0	0 0	0 0 0	0 0	0 0 0	0 0	0 0	0 0	0 0	0 (0	0 0	0	0 0	0 0	0 0	0 0	0 0	0	0 0	0	0 0	0 0	0 0	2 2	1.000	2	2 1.	000 2	2	1.000	2 0) 2+	0 0	1
26 D.Wright N	7 0	1 -	0 8 0	0	0 0	2	0 0	0 0 0	0 0	1 0 0	3 0	0 0	0 3	0 0	4	0	0 0	0	0 5	0 0	0 0	0 0	0 0	0	2 2	0	0 0	0 0	0 0	10 2	2 0.455	11	23 0.	178 14	22	0.636	14 2	2 7	0 0	6
27 J.Byrnes N	10 0	2 -	0 15 0	0	6 0	1	0 0	0 0 0	0 0	0 0 0	0 0	0 0	2 2	0 0	7	0	0 0	0	0 3	0 0	0 0	0 0	0 0	0	2 2	0	0 0	0 0	0 0 2	22 3	4 0.647	24	36 0.	667 30	34	0.882	26 2	2 13	0 0	10
	<i>I</i> 5 0	0 -	0 7 0	0	1 0	1				0 0 0						+				ł						-											9 0		0 0	5
27 J.Minervini N	14 0	4 -	0 16 (0	1 0		<u> </u>	0 0 0	0 0	1 0 0	0 1 0					+				ł			+			-		-	-			<u> </u>		H		0.563	22 1	22	0 0	7
27 L.Ranel N	<i>1</i> 9 0	3 -	0 9 0	0	0 0	0			- !		1					-				0 0	0 0	0 0	0 0	0	0 0	0	0 0	0 0	0 0			l		-					+	
28 R.Ray N	<i>I</i> 176 0	76 -	1 158 (0	104 0	42	29 0	0 0 0	10 0	13 0 0	0 4 0	0 0	59 22	1 0	115 1	2 0	0 0	0		<u> </u>						•													+	
Player Name								KB KD KE			P KS KU I			- 1	FO LO			2 TK3 U	•				C2 C3	3 CH		НВ	TB IOB	-				l				- 1	тов С	TOB/G	SB SA	RBI
	Games	Walks	`			Trpls	Homers		At	the Plate						In the	Air		Other	On					Out					Batting	Avg.	On	Base %			%				Ш
▲ Name of Player	ored font are co	rrently Pegulars or			On	1	1												011 0 4														· · · · · · · · · · · · · · · · · · ·					0 / 0		4
							Homers	<u> </u>	KB =	= Strikeout - O	ut of Batter's Bo	ox GO	O = Ground Ou	t f	O = Fly Ou	t		U	JO = Unknov	vn Out	S2 = S	Stole 2B	C2 = Caug	ght Stealii	ng Second			Ej = Ejection	Hit	s = 1+2+3-		OB = On I	Base	TB = 1	Total Bases	T	TOB = Time	On Base		1
			▲ Singles	6: :		1	HR = Homer In		KD:	= Strikeout - D	Delay of Game	F	C = Fielder's Cl	noice	LO = Line C	ut					S3 =	Stole 3B	C3 = Cau	ught Steali	ing Third			In = Injury	AE	B = At BAt		W+	1+2+3+H	1+(2	2x2)+(3x3)+	-(Hx4)	W+1+2+3			I
			1^ = only str 1DB = Dea	aignt Single d Ball Single	2	1		iver the Fence (Y	KF	= Strikeout - I	Fouls				TKO = Stri	keout - Hit (Over Fence					Oloic HUII	BOOB =	Baserun	ner Out On	Base					Average	Wa	lks+Hits+Ou	ts	Hits+Outs				▲ How Ofte	 n Safe Ster
2. Sharkey Region Regio		SI	B = Stolen B	ase																																				
		W* = only straigh			Doubles										1N3 = 1f	pie StrikeOl	ıı - ⊓ıl UVê	rence				er on 2B				ach													S2+S3+SI	
				2	c = only straig 2GR = Ground	gnt Double d Rule Do	e ouble			KP = Strikeou	t - Stepped on F	Plate									-		IOB =	Intention	al Out on E	Base												S	SA = Steal Av SB / (SB+	
		ivv - intentional	vvdIK	•						KS = Strikeou KU = Strikeo	ut - Swinging ut Umpire's Dis	cretion																										D V	,	
										IOP = Intent	ional Out at the	Plate																											ou Drive In . Runs Batted	

			G	etting On				Getting Out]	Running Bases		Getting Gone	:			Averages			
	Games	Walks	Single	s Do	oubles Trp	ols Homers	At the Plate	On the Ground	In	he Air	Other	On	Over		Out	Exits	Batting	Avg.	On Base %	Slugging %	,		
Player Name	GB GN	W* AW	IW 1* 1DB	1CI 2	* 2GR 3	HR HY	KB KD KE KF KI KL KO KP K	S KU IOPOE GO FC DP TP	FO LO AK	O TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BO	ов О нв тв ю	OB Ej In Su X	Hits A	B BA	OB PA OBP	TB AB S	Slug TOB	O TOB/O S	B SA RB
29 C.Allen	M 58 0	19 -	0 61 0	0 18	8 0 10	0 4 0	0 0 0 0 0 1 0 0 1	1 0 0 0 16 12 0 0	50 5 0	0 0 0	0 25	0 0 0	0 0 0	0 0 0 5	5 0 0	0 0 0 0	93 17	78 0.522	112 197 0.56	143 178	0.803 120	5 24	0 0 59
29 C.Snezek	M 4 0	0 -	0 5 0	0 3	0 0	0 0	0 0 0 0 0 0 0 0	0 0 0 0 0 1 0 0	4 1 0	0 0 0	0 1	0 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	8 1	4 0.571	8 14 0.57	11 14 (0.786 9	0 9+	0 0 7
30 Ta.Miller	M 15 0	1 -	1 20 0	0 3	0 5	5 1 4	0 0 0 1 0 0 0 0	0 0 0 0 0 1 1 0	9 2 0	0 0 0	0 4	0 0 0	0 0 0	0 0 0 1	1 0 0	0 0 0 0	33 4	7 0.702	35 49 0.71	61 47	1.298 31	1 31	0 0 29
31 W.Brogdon	M 17 0	3 -	0 27 0	0 10	0 0 2	0 0	0 0 0 0 0 0 0 0	0 0 0 0 3 4 0 0	12 1 0	0 0 0	0 7	0 0 0	0 0 0	0 0 0 1	1 0 0	0 0 0 0	39 5	9 0.661	42 62 0.67	53 59	0.898 46	1 46	0 0 28
33 A.Aleweidat	M 84 0	20 -	0 77 0	0 7	0 1	1 0	0 0 0 2 0 1 0 0 2	2 0 0 0 10 22 3 0	88 11 0	0 0 0	0 51	24 0 0	0 0 0	0 0 0 4	4 0 0	0 0 0 0	86 22	25 0.382	106 245 0.43	98 225	0.436 127	4 31.75	0 0 54
33 C.Ford	M 8 0	0 -	0 12 0	0 2	2 0 0	1 0	0 0 0 0 0 0 0 0	0 0 0 0 4 0 0 0	9 0 0	0 0 0	0 2	0 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	15 2	8 0.536	15 28 0.53	20 28	0.714 14	0 14+	0 0 10
33 G.Humphrey	M 9 0	2 -	0 8 0	0 3	0 1	0 0	0 0 0 0 0 1 0 0	0 0 0 0 6 2 0 0	1 3 0	0 0 0	0 6	2 0 0	0 0 0	0 0 0 2	2 0 0	0 0 0 0	12 2	.5 0.480	14 27 0.51	17 25	0.680 16	2 8	0 0 8
33 H.Mathis	M 29 0	10 -	1 35 0	0 14	4 0 1	0 1	0 0 0 0 0 0 0 0	0 0 0 0 10 1 4 0	28 2 0	1 0 0	0 20	0 0 0	0 0 0	0 0 0 2	2 0 0	0 0 0 0	51 9	7 0.526	62 108 0.57	70 97 (0.722 62	2 31	0 0 59
33 J.McCary	M 58 0	0 -	0 70 0	0 36	6 1 17	7 4 1	0 0 0 1 0 0 0 0	0 0 0 0 13 9 2 0	53 8 0	4 0 0	0 31	0 0 0	0 0 0	0 0 0 4	4 0 0	0 0 0 0	129 2°	19 0.589	129 219 0.58	215 219	0.982 133	4 33.25	0 0 98
33 M.Meek	M 12 0	0 -	0 10 0	0 10	0 0 5	1 0	1 0 0 0 0 0 0 0	0 0 0 0 4 4 0 0	4 2 0	1 0 0	0 4	0 0 0	0 0 0	0 0 0 3	3 0 0	0 0 0 0	26 4	2 0.619	26 42 0.61	49 42	1.167 29	3 9.667	0 0 22
33 A.Pervis	M 10 0	2 -	0 13 0	0 2	0 3	1 0	0 0 0 1 0 0 0 0	0 0 0 0 2 0 0 0	11 1 0	0 0 0	0 6	0 0 0	0 0 0	0 0 0 0	0 0 1	0 0 0 0	19 3	4 0.559	21 36 0.58	30 34 (0.882 20	0 20+	0 0 11
34 A.Hess	M 46 0	19 -	0 46 0	0 17	7 0 11	1 0 0	0 0 0 0 0 0 0 0	0 0 0 0 9 6 1 0	34 1 0	2 0 0	0 19	3 0 0	0 0 0	0 0 0 2	2 0 0	0 0 0 0	74 12	27 0.583	93 146 0.63	113 127	0.890 99	2 49.5	0 0 59
35 E.Thompson	M 9 0	4 -	1 10 0	0 6	0 2	0 0	0 0 0 0 0 0 0 0	0 0 0 0 1 3 1 0	3 1 0	0 0 0	0 4	0 0 0	0 0 0	0 0 0 1	1 0 0	0 0 0 0	18 2	7 0.667	23 32 0.71	28 27	1.037 26	1 26	0 0 18
36 P.Bradley	M 16 0	1 -	0 14 0	0 8	0 4	3 0	0 0 0 0 0 0 0 0	0 0 0 0 4 1 0 0	12 4 0	0 0 0	0 6	0 0 0	0 0 0	0 0 0 2	2 0 0	0 0 0 0	29 5	0.580	30 51 0.58	54 50	1.080 28	2 14	0 0 22
36 J.Stull	M 9 0	2 -	0 10 0	0 0	0 0	0 0	0 0 0 0 0 0 0 0	0 0 0 0 4 2 0 0	5 0 0	0 0 0	0 3	1 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	10 2	1 0.476	12 23 0.52	10 21	0.476 14	0 14+	0 0 5
37 M.Shumaker	M 30 0	6 -	0 41 0	0 10	0 0 0	0 0	0 0 0 0 0 0 0 0	0 0 0 0 4 12 0 0	26 4 0	0 0 0	0 16	1 0 0	0 0 0	0 0 0 5	5 0 0	0 0 0 0	51 9	7 0.526	57 103 0.55	61 97	0.629 69	5 13.8	0 0 34
41 C.Coble	M 10 0	1 -	0 6 0	0 2	2 0 0	0 0	0 0 0 1 0 1 0 0 1	1 0 0 0 3 5 0 0	9 1 0	0 0 0	0 5	0 0 0	0 0 0	0 0 0 1	1 0 0	0 0 0 0	8 2	9 0.276	9 30 0.30	10 29	0.345 14	1 14	0 0 7
42 N.Uhry	M 11 0	2 -	0 14 0	0 4	0 1	1 0	0 0 0 0 0 1 0 0	0 0 0 0 3 3 0 0	4 4 0	0 0 0	0 6	6 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	20 3	5 0.571	22 37 0.59	29 35	0.829 24	0 24+	0 0 9
44 F.Allen	M 48 0	33 -	0 41 0	0 12	2 0 2	2 1 0	0 0 0 1 0 3 0 0 2	2 0 0 0 14 11 0 0	45 1 0	0 0 0	0 25	0 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	56 13	33 0.421	89 166 0.53	75 133	0.564 99	0 99+	0 0 47
44 M.Ball	M 14 0	2 -	0 22 0	0 2	2 0 1	0 0	0 0 0 0 0 0 0 0	0 0 0 0 6 1 1 0	7 1 0	0 0 0	0 6	0 0 0	0 0 0	0 0 0 2	2 0 0	0 0 0 0	25 4	1 0.610	27 43 0.62	29 41	0.707 28	2 14	0 0 11
44 D.Kyle	M 61 0	14 -	1 62 0	0 15	5 0 13	3 10 0	0 0 0 0 0 0 0 0	0 0 0 0 21 12 3 0	52 7 0	1 0 0	0 35	0 0 0	0 0 0	0 0 0 6	6 0 0	0 0 0 1	100 19	96 0.510	115 211 0.54	171 196	0.872 117	6 19.5	J 0 98
44 C.Phillips	M 22 0	0 -	0 28 0	0 10	0 0 6	2 0	0 0 0 0 0 0 0 0	0 0 0 0 2 7 1 0	17 2 0	3 0 0	0 9	1 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	46 7	8 0.590	46 78 0.59	74 78	0.949 51	0 51+	J 0 33
45 J.Ortiz	M 9 0	4 -	0 8 0	0 1	0 1	0 0	0 0 0 0 0 1 0 0	0 0 0 0 2 4 1 0	6 1 0	0 0 0	0 2	0 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0	10 2	5 0.400	14 29 0.48	13 25 (0.520 18	0 18+	0 0 7
49 J.Jefferys	M 43 0	12 -	0 54 0	0 2	1 0 5	5 1 0	0 0 0 0 0 1 0 0	0 0 0 0 10 12 0 0	40 5 0	0 0 0	0 15	0 0 0	0 0 0	0 0 0 4	4 0 0	0 0 0 0	81 14	49 0.544	93 161 0.57	115 149	0.772 104	4 26	0 0 56
Player Name			1						1		uo /	PR BB X2									_	О ТОВ/О S	B SA RBI
	Games	Walks	<u> </u>			ols Homers	At the Plate		In	he Air	Other	On			Out			Avg.	On Base %		5		
	lored font are cu	irrently Regulars o					A Outs at the Dista		A Outs in the Air		A Other Orde							Van I lit. A	Harri Office Very Cod Oc			on Out on Dans	
Players shown in colored	font are current	ly Subs on one or	nore teams.	 [·	Homers	KB = Strikeout - Out of E	Batter's Box GO = Ground Out	FO = Fly Out		UO = Unknow	n Out	S2 = Stole 2B	C2 = Caught Stealing S	econd	Ej = Ejection	Hits = 1+2+3	+H 0	B = On Base	TB = Total Bases	TOB = Tin	ne On Base	
			▲ Singles	ht Cinals	-	HR = Homer I	iside the rank				/ = Inning End	ling Out	S3 = Stole 3B SH = Stole Hom	C3 = Caught Stealing T ne CH = Caught Stealing	hird Home	In = Injury Su = Substitution						!+3+FC+PR+BB+) Bs+C2+C3+CH	(2
	BN = Game E	Not Batted	1DB = Dead B	all Single	 * T/*		KF = Strikeout - Fouls	TP = Triple Play	TKO = Strikeout -	Hit Over Fence				BOOB = Baserunner (Out On Base	X = Unknown		g Average	Walks+Hits+Outs	Hits+Outs	ΤΟΒ/Θ		low Often Safe S
				Interference	3 = Ti	pies riple	KI = Strikeout - Illegal KL = Strikeout - Look	l Bat king	TK2 = Double Str TK3 = Triple Stril	keout - Hit Over Fence eout - Hit Over Fence				Θ = BOOBs+C2+C3+ HB = Hit by hatted R	CH ill			(OBP = On Base %age	Slug = Slugging %	age	SB = 9	Stolen Base
	Ce		2+S3+SH Steal Average																				
				2GR	= Ground Rule	Double								IOB = Intentional O	t on Base							SI	B / (SB+C2+C3+
C. Cater				Runs You D	rive In ▲																		
							IOP = Intentional (Out at the Plate														RBI = Runs	
							OE = Official Out	Due to Ejection															

	•		Getting	g On			Getting Out				Ru	nning Bases	(Getting Gone			Averages		
	Games	Walks	Singles	Doubles T	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %		
Player Name	GB GN	W* AW IV	V 1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	8 UO / P	PR BB X2	S2 S3 SH	C2 C3 CH BOOB () I	HB TB IOB I	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB ⊙ TOB/ ⊙	SB SA R
53 E.Kasmier I	M 191 0	58 - 0	232 0 0	50 2	8 0 0	0 0 0 2 0 3 0 0 0 0 0 0	47 38 10 0	155 23 0 0 0 0	0 94	2 0 0	0 0 0	0 0 0 6 6	0 0 0	0 0 0 0	292 570 0.512	350 628 0.557	7 360 570 0.632	388 6 64.67	0 0 1
60 T.Taylor i	M 12 0	2 - 0	14 0 0	4 0	2 0 0	0 0 0 0 0 0 0 0 0 0 0 0	3 4 0 0	13 0 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	20 40 0.500	22 42 0.524	4 28 40 0.700	26 1 26	0 0 1
64 J.Beal I	M 5 0	3 - 0	3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	3 3 0 0	1 1 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 11 0.273	6 14 0.429	3 11 0.273	9 0 9+	0 0
69 T.Kelly I	M 37 0	7 - 0	43 0 0	12 0	0 0 0	0 0 0 1 0 0 0 0 0 0 0 0	11 1 7 0	28 3 0 0 0 0	0 20	0 0 0	0 0 0	0 0 0 3 3	0 0 0	0 0 0 0	55 106 0.519	62 113 0.549	67 106 0.632	63 3 21	0 0 2
77 M.Reams I	M 8 0	3 - 0	7 0 0	6 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	3 2 0 0	4 1 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 1 0 0	13 23 0.565	16 26 0.618	5 19 23 0.826	18 0 18+	0 0
77 D.Yekell I	M 25 0	6 - 0	26 0 0	14 0	9 0 4	0 0 0 1 0 0 0 1 0 0 0 0	0 6 0 0	13 3 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	53 77 0.688	59 83 0.71°	97 77 1.260	61 2 30.5	0 0 4
88 <mark>M.Ma</mark> uk 1	M 114 0	28 - 0	137 0 0	15 0	0 0 0	0 0 0 0 0 4 0 0 1 0 0 0	30 23 7 0	103 11 0 0 0 0	0 58 1	12 0 0	0 0 0	0 0 0 6 6	0 0 0	0 0 0 0	152 331 0.459	180 359 0.50	167 331 0.505	203 6 33.83	0 0 9
99 G.Brooke I	M 145 0	48 - 2	124 0 0	54 0	22 14 0	0 0 0 1 0 1 0 0 1 0 0 0	36 20 3 0	149 20 0 0 0 0	0 81	0 0 0	0 0 0	0 0 0 8 8	0 0 0	0 0 0 0	214 445 0.481	264 495 0.533	3 354 445 0.796	270 8 33.75	0 0 1
99 J.Gravitt I	M 78 0	27 - 0	79 0 0	21 0	6 0 0	0 0 0 0 0 1 0 0 1 0 0 0	16 22 1 0	75 3 0 0 0 0	0 38	2 0 0	0 0 0	0 0 0 5 5	0 0 0	0 0 0 0	106 225 0.471	133 252 0.528	3 139 225 0.618	155 5 31	0 0 8
99 K.James I	M 29 0	4 - 0	33 0 0	8 0	4 2 0	0 0 0 1 0 0 0 0 0 0 0 0	6 6 1 0	25 1 0 0 0 0	0 16	3 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	47 87 0.540	51 91 0.560	69 87 0.793	55 2 27.5	0 0 4
C.Adcock I	M 19 0	1 - 1	38 0 0	9 0	0 0 0	0 0 0 0 0 0 0 0 0 0 1	1 2 0 0	13 3 0 0 0 0	0 7	0 0 0	0 0 0	0 0 0 0 0	0 0 0	1 0 0 0	47 67 0.701	49 69 0.710	56 67 0.836	51 0 51+	0 0 3
A.Ahmed I	M 7 0	1 - 0	7 0 0	0 0	1 1 0	0 0 0 0 0 0 0 0 0 0 0	1 2 1 0	8 0 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	9 21 0.429	10 22 0.455	5 14 21 0.667	11 0 11+	0 0
N.Anderson I	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	1 2 0.500) 1 2 0.500	1 0 1+	0 0
K.Armstrong I	M 3 0	0 - 0	1 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	5 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 8 0.250	2 8 0.250	3 8 0.375	3 0 3+	0 0
M.Arnold I	M 2 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	5 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 7 0.143	<u> </u>		1 0 1+	0 0
T.Auxier I	M 3 0	1 - 0	2 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	4 1 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 9 0.333	4 10 0.400		4 0 4+	0 0
B.Baber I	M 1 0	0 - 0	1 0 0	0 0	1 0 0		0 0 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667			2 0 2+	0 0
A.Baker I	M 9 0	1 - 0	12 0 0	1 0	3 0 0		2 2 0 0	8 0 0 1 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	16 29 0.552	17 30 0.567	7 23 29 0.793	19 0 19+	0 0 1
B.Balmes I	M 2 0	0 - 0	0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 2 0 0	2 0 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 5 0.000	0 5 0.000		2 0 2+	0 0
A.Balon I	M 3 0	0 - 0	1 0 0	2 0	0 0 0		1 1 0 0	3 0 0 0 0 0		0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 8 0.375			-	0 0
C.Barker I	M 3 0	1 - 0	1 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 0 0 0	2 1 0 0 0 0		1 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0				-	0 0 :
M.Bilka I	M 1 0	1 - 0	0 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0		2 0 0 0 0 0									0 2 3 0.667		2 2
S.Blount I	M 1 0	0 - 0	1 0 0	+ +	+	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	 	† 1			 				i			0 0
J.Bowen I	M 1 0	1 - 0	1 0 0		+	0 0 0 0 0 0 0 0 0 0 0 0		1 0 0 0 0 0				 							0 0
	GB GN	<u> </u>				KB KD KE KF KI KL KO KP KS KU IOPOE		<u> </u>				C2 C3 CH BOOB O						тов О тов/о	
Player Name	GB GF Games		Singles	2* 2GR Doubles T	rpls Homers		On the Ground	In the Air	Other	On	Over	Out	нв тв юв г	Exits	Batting Avg.	On Base %	Slugging %	TOB O TOB/O	SB SA K
▲ Name of Player		, , , , , , , , ,	Getting		1 P15		Getting Out	III VIIC IIII	Guici			nning Bases	(Getting Gone	g ·g·	l	Averages		
Players shown in bold, co Players shown in colored	olored font are control font are curren ▲ Games Pla GB = Game BN = Game	ly Subs on one or mo yed Batted	re teams. ▲ Singles 1* = only straight Sing 1DB = Dead Ball Sin 1CI - Catcher Interfe	gle erence	I Homers HR = Homer II HY = Homer (Triples = Triple	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game	FC = Fielder's Choice	FO = Fly Out	PR	Out S Out S	SH = Stole Home	Getting Out 22 = Caught Stealing Second C3 = Caught Stealing Third CH = Caught Stealing Home BOOB = Baserunner Out On Base Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball	Ej In S		Hits = 1+2+3+H AB = At BAt	OB = On Base W+1+2+3+H PA = Plate Appearance	1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+BB Θ = BOOBs+C2+C3+CH TOB/Θ	+X2 How Often Safe Stolen Base
		W* = only straight \ AW = Assisted Wa IW - Intentional W	alk (Coed)	▲ Doubles 2* = only straight I 2GR = Ground Rt	Double	KC = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging KU = Strikeout Umpire's Discretion IOP = Intentional Out at the Plate OE = Official Out Due to Ejection		110 - Thpie Suikeuut - Filt Over Felloe		2 = Extra Inning F		TB = Touched by Base coach IOB = Intentional Out on Base						SA Runs You	S2+S3+SH = Steal Average SB / (SB+C2+C Drive In ▲ ns Batted In

OE = Official Out Due to Ejection

	_		Getti	ng On						Getting Out							Running Bas	ses		Getting Gone				A	verages				
	Games	Walks	Singles	Doubles	Trpls	Homers		At the Plate		On the Ground		In the Ai	ir	Other	On	Over		Out		Exits	Batting	g Avg.	On Ba	ase %	Sluggir	ng %			
Player Name	GB GN	W* AW I	W 1* 1DB 10	CI 2* 2GR	R 3	HR HY	KB KD KE KF	KI KL KO K	P KS KU IOPOE	GO FC DP T	P FO L	O AKO TK	O TK2 TK3	uo /	PR BB X2	S2 S3 S	H C2 C3 (сн воов О	HB TB IOI	B Ej In Su X	Hits A	AB BA	OB P	PA OBP	TB A	B Slug	тов О	TOB/O SB S	SA RB
M.Brackman	M 1 0	0 -	0 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1 0 0	1	0 0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0	2 0.000	0	2 0.000	0 2	0.000	1 0	1+ 0	0 0
C.Bradley	M 1 0	1 -	0 1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	0	0 0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1	2 0.500	2	3 0.667	1 2	2 0.500	2 0	2+ 0	0 0
R.Brehm	M 9 0	5 -	0 10 0 0	1 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 3 0 0	7	3 0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	11	25 0.440	16 3	30 0.533	12 2	5 0.480	19 1	19 0	0 8
K.Brian	M 2 0	2 -	0 1 0 0	0 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	2	0 0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2	4 0.500	4	6 0.667	4 4	1.000	4 0	4+ 0	0 1
Ja.Brown	M 3 0	0 -	0 3 0 0	0 0	0	1 0	0 0 0 0	0 0 0 0	0 0 0 0	1 1 0 0	3	0 0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	4	9 0.444	4	9 0.444	7 9	0.778	4 1	4 0	0 2
J.Brown	M 14 0	0 -	0 21 0 (7 0	6	2 0	0 0 0 0	0 0 0 0	0 0 0 0	1 3 0 0	5	1 0 7	0 0	0 6	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	36	53 0.679	36 5	53 0.679	61 5	3 1.151	37 1	37 0	0 30
B.Bryant	M 1 0	0 -	0 3 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	1	0 0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3	4 0.750	3	4 0.750	3 4	0.750	3 0	3+ 0	0 1
D.Burke	M 1 0	0 -	0 2 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	1	0 0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2	3 0.667	2	3 0.667	2 3	3 0.667	2 0	2+ 0	0 0
Ca.Butler	M 4 0	0 -	0 2 0 0) 2 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	4	1 0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	4	10 0.400	4 ′	10 0.400	6 1	0 0.600	4 0	4+ 0	0 4
J.Caballero	M 1 0	0 -	0 2 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	1	0 0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2	3 0.667	2	3 0.667	2 3	3 0.667	2 0	2+ 0	0 1
J.Caldwell	M 3 0	0 -	0 5 0 0	2 0	0	1 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	1	0 0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8	10 0.800	8 1	10 0.800	13 1	0 1.300	7 0	7+ 0	0 4
K.Carnes	M 2 0	0 -	0 1 0 0	1 0	0	1 0	0 0 0 0	0 0 0 0	0 0 0 0	2 0 0 0	0	0 0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3	5 0.600	3	5 0.600	7 5	1.400	2 0	2+ 0	0 4
J.Carnett	M 5 0	1 -	0 7 0 0	0 4 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	2 2 0 0	1 1	2 0 0	0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	11	18 0.611	12 1	19 0.632	15 1	8 0.833	14 0	14+ 0	8 0
M.Carpenter	M 1 0	0 -	0 1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	1	0 0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1	3 0.333	1	3 0.333	1 3	3 0.333	1 0	1+ 0	0 0
G.Casalini	M 2 0	0 -	0 3 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	3	0 0 0	0 0	0 2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3	6 0.500	3	6 0.500	3 6	0.500	3 0	3+ 0	0 2
R.Cepeda	M 1 0	0 -	0 1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	1	0 0 0	0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1	3 0.333	1	3 0.333	1 3	3 0.333	1 0	1+ 0	0 0
L.Civelli	M 29 0	5 -	0 41 0 (0 8 0	11	0 0	0 0 0 0	0 0 0 0	0 0 0 0	6 9 0 (19	2 0 1	0 0	0 8	2 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	60	97 0.619		02 0.637	90 9		74 1	74 0	
L.Clackum	M 7 0	2 -	0 9 0 0	0 4 0	2	0 1	0 0 0 0	0 0 0 0	0 0 0 0	3 1 0 0	5	1 0 0	0 0	0 5	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	16	26 0.615	18 2	28 0.643	27 2		18 1	18 0	0 16
E.Clark	M 1 0	0 -	0 1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	2	0 0 0	0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1	3 0.333	1 1	3 0.333	1 3	0.333	1 0	1+ 0	0 1
P.Clayton	M 35 0	5 -	0 31 0 0	10 0	4	6 0	0 0 0 0	0 0 0 0	1 0 0 0	7 5 3 (39	8 0 0	0 0	0 31	0 0 0	0 0 0	0 0	0 3 3	0 0 0	1 0 0 0	1	114 0.447		19 0.471	•	0.763		18.33 0	0 37
K.Clemens	M 3 0	0 -	0 2 0 0	1 0	1	0 0	0 0 0 0	1	0 0 0 0	2 0 0 0		0 0 0	0 0	0 1	0 0 0			0 0 0	1	0 0 0 0	1	10 0.400		0.400		0 0.700	4 0	4+ 0	
R.Conklin	M 1 0	1		1 0	1			1	0 0 0 0	-	+	- !		<u> </u>	1		<u> </u>	- 	•	 	+	3 0.667			3 3				0 2
Z.Crider	M 8 0		0 9 0 0	1 0	1		0 0 0 0	<u>i</u>	<u>i</u>		+			!					<u> </u>	0 0 0 0	 	+							0 8
C.Cummins	M 2 0		0 1 0 0	0 0	0			i	0 0 0 0		+	•	0 0	† 		0 0 0	_		0 0 0	<u> </u>	 	6 0.167		6 0.167		0.167		2+ 0	
Player Name	GB GN Games		W 1* 1DB 10 Singles	CI 2* 2GR Doubles		HR HY Homers	KB KD KE KF	At the Plate	P KS KU IOPOE	GO FC DP T	P FO LO	AKO TKO In the Ai		Other	PR BB X2 On	S2 S3 S Over	Н С2 С3 С	CH BOOB 😉 Out	нв тв ю	B Ej In Su X Exits		AB BA g Avg.	OB P		TB A Sluggii	_	TOB 😉	TOB/O SB S	SA RB
▲ Name of Player		,, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Getti		Tipis					Getting Out		In the III	••	Other	<u> </u>		Running Bas			Getting Gone		88-	9.1. - 1.		verages	-8 / 0			
Players shown in bold, co			one or more teams.		I			Outs at the Plate		▲ Outs on the Ground	▲ Outs in the	e Air		▲ Other Outs		▲ Getting Over	▲ Getting Out			▲ Getting Gone	▲ How Ofter			You Get On ▲	How Effective	vely You Hit ▲	How Often O	ut on Base	
	▲ Games Pla GB = Game BN = Game	ayed Batted	▲ Singles 1* = only straight S 1DB = Dead Ball S 1CI - Catcher Inte t Walk Valk (Coed)	ingle rference	I I Triples 3 = Tripl ght Double	s le e	side the Park over the Fence (Yard)	KS = Strikeou	elay of Game atter Elsewhere Fouls legal Bat Looking - Unknown - Stepped on Plate t - Swinging	GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play	TKO = Str TK2 = Do	Out omatic TKO ikeout - Hit Ove uble Strikeout -			ling Out ▲ Getting On PR = Pinch Ran BB = Base Burg	S3 = Stole 3B SH = Stole Ho	me CH = Caught BOOB = Bas 0 = BOOBs HB = Hit by TB = Touc	Stealing Third t Stealing Home serunner Out On I t+C2+C3+CH	Base	Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2+; AB = At BA Hits+(BA = Battir	t Outs F ng Average	Walks-	e +3+H ppearance / +Hits+Outs tase %age	Hits+Ou	3)+(Hx4) its	FOB = Time O W+1+2+3+β Θ = BOOBs+C TOB/Θ	FC+PR+BB+X2 C2+C3+CH ▲ How O SB = Stoler S2+S3+ SA = Steal	3+SH
								KU = Strikeou IOP = Intenti	ut Umpire's Discretion onal Out at the Plate																			Runs You Drive I RBI = Runs Batte	

			Getting	g On	,		Getting Out				Running Bases	Getting Gon		1	Averages		
	Games	Walks	Singles	Doubles T	rpls Homers	At the Plate	On the Ground	In the Air	Other	On Over	Out	Exits	Batting Avg.	On Base %	Slugging %		
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	UO / PR	BB X2 S2 S3 SI	H C2 C3 CH BOOB () HB TB	IOB Ej In Su Y	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/O SB	SA RF
Sc.Dale N	V 2 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 1 0 0 0	2 0 0 0	2 0 0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0	1 6 0.167	' 1 6 0.167	1 6 0.167	1 0 1+ 0	0 1
J.Dalton N	И 11 0	4 - 1	13 0 0	5 0	4 1 0	0 0 0 0 0 0 0 0 0 0 0 0	1 2 1 0	7 1 0 1 0 0	0 8 0	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0	23 36 0.639	28 41 0.683	39 36 1.083	29 0 29+ 0	0 16
Ch.Davidson N	√l 18 0	6 - 0	18 0 0	7 0	4 1 0	0 0 0 0 0 0 0 0 0 0 0 0	2 2 0 0	21 3 0 1 0 0	0 13 0	0 0 0 0 0	0 0 0 2 2 0 0	0 0 0 0 1	30 59 0.508	36 65 0.554	48 59 0.814	37 2 18.5 0	0 25
M.Dees N	И 1 0	1 - 0	1 0 0	0 0	0 0 1	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0	2 2 1.000	3 3 1.000	5 2 2.500	2 0 2+ 0	0 3
D.Delany N	и 1 0	0 - 0	0 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 0 0 0 0 0	0 0 2	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	2 4 0.500	2 4 0.500	4 4 1.000	2 0 2+ 0	0 3
D.DeMartino N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	0 0 0 0 0 0	0 1 0	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	1 3 0.333	3 0.333	1 3 0.333	2 0 2+ 0	0 0
D.Dennis I	F 4 2	0 0 0	3 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 1 0 0 0 0	0 1 0	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 1	5 9 0.556	5 9 0.556	7 9 0.778	5 0 5+ 0	0 5
T.Edema N	√I 3 0	1 - 0	3 0 0	2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	5 0 0 0 0 0	0 2 2	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	5 10 0.500	6 11 0.545	7 10 0.700	6 0 6+ 0	0 4
K.Elliott N	M 2 0	0 - 0	3 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	3 0 0 0 0 0	0 2 0	0 0 0 0 0	0 0 0 0 1 1 0 0	0 0 0 0 0	4 8 0.500	4 8 0.500	6 8 0.750	5 1 5 0	0 3
D.Ellis N	M 1 0	0 - 0	1 0 0	0 0	0 0 0	0 0 0 1 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+ 0	0 2
P.Ellis N	M 1 0	0 - 0	0 0 0	0 0	0 0 0		1 0 0 0	2 0 0 0 0 0	0 1 0	0 0 0 0 0		0 0 0 0	0 3 0.000		0 3 0.000		0 0
H.Emerson N	M 1 0	0 - 0	0 0 0	0 0	0 0 0		1 0 0 0	0 0 0 0 0 0		0 0 0 0 0		0 0 0 0 0	0 1 0.000	1			0 0
B.Emery N	vi 7 0	0 - 0	9 0 0	1 0	0 0 0		1 1 1 0	7 0 0 0 0 0	0 4 0			0 0 0 0 0	10 20 0.500				0 3
C.Fernandez N	и 5 0	0 - 0	10 0 0	2 0	1 0 0		0 1 0 0	1 1 0 0 0 0	0 1 0			0 0 0 0 0	13 16 0.813				0 7
J.Ferrell N	vi 6 0	2 - 0	2 0 0	1 0	0 0		2 2 1 0	4 1 0 0 0 0	0 2 0	0 0 0 0			3 14 0.214	5 16 0.313			0 1
C.Fletcher N	M 10 0	0 - 0	10 0 0	1 0	1 1 0		4 1 0 0	7 1 0 0 0 0	0 2 0	0 0 0 0		0 0 0 0 0	16 29 0.552	16 29 0.552	25 29 0.862		0 8
	M 10 0	0 - 0	10 0 0	6 0	1 0 0		2 2 0 0	10 1 0 1 0 0	0 3 0	0 0 0 0 0			17 33 0.515				0 14
J.Flynt N	F 3 0	4 0 0	10 0 0	0 0	0 0		2 2 0 0		0 2 0	0 0 0 0 0			3 4 0.750	17 33 0.515	25 33 0.758	19 1 19 0	0 14
M.Foss I	3 0	0 0	3 0 0	4 0	0 0 0		0 1 0 0		0 1 0	0 0 0 0			3 4 0.750	4 5 0.600	3 4 0.750	5 0 5+ 0	0 3
J.Franklin N	1 0	0 - 0	1 0 0	1 0	0 0 0		0 1 0 0	0 0 0 0 0			0 0 0 0 0 0 0	0 0 0 0 0	2 3 0.667		3 3 1.000		0 0
L.Frazier N	M 4 0	1 - 0	5 0 0	3 0	0 0 0		3 0 0 0	2 1 0 0 0 0	0 3 0			0 0 0 0 0	8 14 0.571	9 15 0.600	11 14 0.786		0 5
T.Frier,Jr.	M 33 0	5 - 0	45 1 0		4 2 0	0 0 0 2 0 2 0 0 1 0 0 0	12 4 0 0	24 1 0 0 0 0		0 0 0 0 0	0 0 0 2 2 0 0	0 0 0 0 1	65 111 0.586				0 52
S.Fulmer N	M 10 0			1	+	0 0 0 0 0 0 0 0 0 0 0 0			<u> </u>		0 0 0 0 0 0 0		1	1			0 13
S.Gallapo N	M 2 0	1 - 0	2 0 0	0 0	+	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	:	<u> </u>		0 0 0 0 0 0 0			1			0 0
B.Gilbert N	M 1 0	0 - 0	0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0			0 0 0 0 0 0 0						0 0
Player Name	GB GN					KB KD KE KF KI KL KO KP KS KU IOPOE					Н С2 С3 СН ВООВ О НВ ТВ				_	TOB O TOB/O SB	SA RF
	Games	Walks	Singles		rpls Homers	At the Plate	On the Ground	In the Air	Other	On Over	Out	Exits	Batting Avg.	On Base %	Slugging %		
▲ Name of Player Players shown in bold, col	ored font are cu	urrently Regulars on o	Getting ne or more teams.	g On		Outs at the Plate	Getting Out Outs on the Ground	▲ Outs in the Air	▲ Other Outs	▲ Getting Over	Running Bases	Getting Gone ▲ Getting Gone		▲ How Often You Get On A	Averages How Effectively You Hit	A How Often Out on Race	
Players shown in colored	▲ Games Play GB = Game B BN = Game I	yed Batted	▲ Singles 1* = only straight Sing 1DB = Dead Ball Sing 1Cl - Catcher Interfe /alk k (Coed)	gle 🛕 T	Triples Triple Oouble	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere KF = Strikeout - Fouls KI = Strikeout - Illegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate	GO = Ground Out FC = Fielder's Choice	FO = Fly Out	UO = Unknown Out / = Inning Ending Ou ▲ Getti PR = F BB = F	S2 = Stole 2B st S3 = Stole 3B SH = Stole Ho	C2 = Caught Stealing Second C3 = Caught Stealing Third me CH = Caught Stealing Home BOOB = Baserunner Out On Base Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball	Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2+3+H AB = At BAt	OB = On Base W+1+2+3+H PA = Plate Appearance	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+BB+X2 0 = BOOBs+C2+C3+CH TOB/0	I V Often Safe solen Base S3+SH teal Average / (SB+C2+C3
		ivv - intertuorial Wa	лік			KS = Strikeout - Swinging KU = Strikeout Umpire's Discretion IOP = Intentional Out at the Plate OE = Official Out Due to Ejection										Runs You Driv RBI = Runs Ba	ve In ▲

			Gettin	g On			Getting Out				F	Running Bases		Getting Gone			Averages			
	Games	Walks	Singles	Doubles 7	Trpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GN	W* AW I	W 1* 1DB 1C	I 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB ⊙	HB TB IOB	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/G	SB SA	RBI
J.Gomez I	M 1 0	0 -	0 2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.667	2 3 0.667	2 0 2+	0 0	0
M.Graham I	M 4 0	0 - (0 7 0 0	2 0	1 1 0	0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	2 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	11 15 0.733	11 15 0.733	18 15 1.200	11 0 11+	0 0	12
N.Greenwood	M 1 0	0 -	0 3 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 1.000	3 3 1.000	3 3 1.000	3 0 3+	0 0	3
M.Griffin I	M 4 0	0 - (0 4 0 0	3 0	0 1 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	2 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 1	8 11 0.727	8 11 0.727	14 11 1.273	8 0 8+	0 0	8
G.Groce	M 2 0	1 - (0 2 1 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	0 1 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 6 0.667	5 7 0.714	5 6 0.833	6 0 6+	0 0	3
D.Hamner I	M 7 0	0 - (0 12 0 0	2 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	4 1 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	15 22 0.682	15 22 0.682	19 22 0.864	16 1 16	0 0	6
B.Hansford I	M 6 0	0 - (0 8 0 0	3 0	0 2 0	0 0 0 0 0 0 0 0 0 0 0	0 3 0 0	3 0 0 1 0 0	0 1	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	13 20 0.650	13 20 0.650	22 20 1.100	14 1 14	0 0	11
D.Harris I	M 3 0	2 - (0 1 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 5 0.400	4 7 0.571	3 5 0.600	4 0 4+	0 0	0
S.Harris I	M 1 0	1 - (0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 2 0.000	1 3 0.333	0 2 0.000	1 0 1+	0 0	0
J.Hennings I	M 9 0	4 - (0 14 0 0	5 0	2 1 0	0 0 0 0 0 0 0 0 0 0 0	2 1 1 0	8 1 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	22 35 0.629	26 39 0.667	34 35 0.971	26 2 13	0 0	9
K.Hereford	M 1 0	0 - (0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 3 0.000	0 3 0.000	0 3 0.000	0 0 0+	0 0	1
C.Herring I	M 1 0	0 - (0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+	0 0	2
J.Hibbard I	M 1 0	0 - (0 2 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 2 1.000	2 2 1.000	2 2 1.000	2 0 2+	0 0	2
N.Hjelm I	M 1 0	0 - (0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	1 1 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 3 0.000	0 3 0.000	0 3 0.000	1 0 1+	0 0	0
B.Hudnall I	M 3 0	1 - (0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 1 0	3 1 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	1 6 0.167	2 7 0.286	1 6 0.167	2 1 2	0 0	0
J.Hudson I	M 1 0	0 - (0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	0 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	1 2 0.500	1 2 0.500	1 0 1+	0 0	0
D.Jenks I	M 5 0	1 - (0 5 0 0	1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	2 0 0 0	6 0 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	6 14 0.429	7 15 0.467	7 14 0.500	7 0 7+	0 0	2
D.Johnson I	M 3 0	0 - (0 4 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	3 2 0 0	0 0 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 9 0.444	4 9 0.444	4 9 0.444	6 0 6+	0 0	1
J.Johnson I	M 2 0	2 - (0 1 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	2 0 0 1 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 6 0.333	4 8 0.500	4 6 0.667	5 0 5+	0 0	3
K.Jones I	M 3 0	0 - (0 2 0 0	0 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	2 1 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 8 0.375	3 8 0.375	5 8 0.625	4 0 4+	0 0	3
K.Joseph I	M 1 0	0 - (0 1 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 1 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+	0 0	1
B.Keating I	M 1 0	0 - (0 0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	2 0 1 0	1 0 0 0 0 0	0 3	1 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 4 0.000	0 4 0.000	0 4 0.000	0 0 0+	0 0	0
C.Krueger I	M 0 1	0 - (0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 0 0.000	0 0 0.000	0 0 0.000	0 0 0+	0 0	0
R.Kuckek I	M 1 0	0 - (0 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	:				 	<u> </u>					0 0 0+		0
Player Name	GB GN	W* AW I	W 1* 1DB 1C	I 2* 2GR		KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP		•			С2 С3 СН ВООВ 🔾	1					тов О тов/е	SB SA	RBI
,	Games		Singles		Trpls Homers		On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player	1	4.0	Gettin	g On			Getting Out					Running Bases		Getting Gone			Averages			
Players shown in bold, co Players shown in colored	font are current! ▲ Games Play GB = Game B BN = Game N	y Subs on one or m yed atted	ore teams. ▲ Singles 1* = only straight Sir 1DB = Dead Ball Sir 1CI - Catcher Interf Walk /alk (Coed)	ngle	HY = Homer Triples = Triple Double	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere	C = Fielder's Choice	FO = Fly Out	l	n Out ing Out ▲ Getting On PR = Pinch Ran BB = Base Burgl	S3 = Stole 3B SH = Stole Hom	A Getting Out C2 = Caught Stealing Second C3 = Caught Stealing Third the CH = Caught Stealing Home BOOB = Baserunner Out On B Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coac IOB = Intentional Out on Ba	Ease h	Cetting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2+3+H AB = At BAt	▲ How Often You Get On A OB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	TOB = Time On Base W+1+2+3+FC+PR+I 0 = BOOBs+C2+C3+C TOB/O	BB+X2 CH A How Often S B = Stolen Bases S2+S3+SH GA = Steal Avera SB / (SB+C2)	e age
						IOP = Intentional Out at the Plate OE = Official Out Due to Ejection													ou Drive In ▲ Runs Batted In	

			Getting	g On				Getting Out				I	Running Bases		Getting Gone			Averages				
	Games	Walks	Singles	Doubles	Trpls	Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %				
Player Name	GB GN	W* AW IW	7 1* 1DB 1CI	2* 2GF	3	HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB ⊙	нв тв ю	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О	TOB/Θ S	B SA	RBI
B.Lamb	M 9 0	1 - 0	11 0 0	2 0	1	1 0	0 0 0 1 0 0 0 0 0 0 0 0	1 2 0 0	8 1 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	15 28 0.536	6 16 29 0.552	2 22 28 0.786	17 2	8.5	0 0	14
G.Landerman	M 1 0	1 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	2 3 0.66	1 2 0.500	2 0	2+ (0 0	0
J.LaPorte	M 3 0	1 - 0	3 0 0	3 0	1	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	7 9 0.778	8 10 0.800	12 9 1.333	8 0	8+ (0 0	3
P.LeBoutillier	M 5 0	1 - 0	5 0 0	0 0	0	0 0	0 0 0 0 0 1 0 0 0 0 0	3 1 0 0	4 1 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	5 15 0.333	6 16 0.37	5 15 0.333	7 0	7+ (0 0	4
J.Lewis	M 3 0	1 - 0	3 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	4 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 8 0.500	5 9 0.556	5 8 0.625	5 0	5+ () 0	3
D.Lindeke	M 10 0	3 - 0	5 0 0	2 0	4	1 0	0 0 0 0 0 0 0 0 0 0 0 0	4 3 0 0	6 0 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	12 25 0.480	15 28 0.536	25 25 1.000	17 1	17 (0 0	10
S.Maddox	M 1 0	0 - 0	3 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 4 1.000	4 4 1.000	5 4 1.250	4 0	4+ (J 0	1
C.Malcolm	M 2 0	1 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	2 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 5 0.200	2 6 0.333	1 5 0.200	3 0	3+ (0 0	1
T.Maldonado	M 2 0	0 - 0	2 0 0	0 0	0	1 0	0 0 0 0 0 0 0 0 0 0 0	0 2 0 0	3 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 8 0.375	3 8 0.37	6 8 0.750	4 0	4+ (0 0	5
S.Mallon	M 9 0	0 - 0	6 0 0	1 0	2	0 0	0 0 0 0 0 0 0 0 0 0 0	2 1 0 0	13 0 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	9 25 0.360	9 25 0.360	14 25 0.560	10 0	10+ (0 0	7
J.Maloney	M 6 0	3 - 0	11 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 2 0 0	1 1 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	11 15 0.733	3 14 18 0.778	11 15 0.733	16 0	16+ (0 0	4
Cr.Martin	M 24 0	7 - 0	35 0 0	9 0	5	2 0	0 0 0 0 0 0 0 0 0 0 0	5 3 0 0	13 2 0 0 0 0	0 11	0 0 0	0 0 0	0 0 0 2 2	0 0 0	0 0 0 0	51 74 0.689	58 81 0.716	76 74 1.027	59 2	29.5	0 0	37
Mi.Massey	M 6 0		6 0 0	1 0	1	0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 4 0 0	2 0 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	8 16 0.500	10 18 0.556	11 16 0.688	14 1	14 (0 0	11
D.McDermond	M 3 0	1 - 0	4 0 0	3 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	7 7 1.000	8 8 1.000	10 7 1.429	8 0	8+ (0 0	4
G.Mendez	M 1 0	0 - 0	2 0 0	1 0	0	0 1	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 4 1.000	4 4 1.000	8 4 2.000	3 0	3+ (0 0	5
T.Menefee	M 11 0	0 - 0	12 0 0	2 0	7	1 0	0 0 0 0 0 0 0 0 0 0 0 0	5 1 0 0	6 0 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	22 34 0.647	22 34 0.64	41 34 1.206	22 0	22+ (0 0	16
D.Metrick	M 9 0	0 - 0	13 0 0	0 0	3	2 0	0 0 0 1 0 0 0 0 0 0 0 0	1 1 0 0	7 0 0 3 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	18 31 0.581	18 31 0.58°	30 31 0.968	17 0	17+ (0 0	17
S.Mills	M 9 0	1 - 0	8 0 0	6 0	2	0 0	0 0 0 0 0 1 0 0 0 0 0	4 0 0 0	6 3 0 0 0 0	0 4	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	16 30 0.533	3 17 31 0.548	26 30 0.867	17 1	17 (0 0	14
D.Monson	M 1 0	0 - 0	1 0 0	0 0	0	0 1	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 2 1.000	2 2 1.000	5 2 2.500	1 0	1+ (0 0	1
G.Montano	M 4 0	0 - 0	6 0 0	0 0	2	1 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	3 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	9 13 0.692	9 13 0.692	16 13 1.231	9 0	9+ (0 0	9
J.Montgomery	M 13 0	3 - 0	17 0 0	0 0	2	0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 6 0 0	18 0 0 0 0 0	0 11	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	19 44 0.432	2 22 47 0.468	23 44 0.523	28 0	28+ () 0	9
R.Morris	M 6 0	1 - 0	5 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 0 1 0	5 0 0 0 0 0	0 5	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	6 14 0.429	7 15 0.46	7 14 0.500	7 0	7+ (0 0	2
C.Neal	M 1 0	0 - 0	0 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 1 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	1 2 0.500	2 2 1.000	1 0	1+ (0 0	0
D.Nesser	M 1 0	0 - 0	1 0 0	0 0	0	1 0	0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	0 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	2 3 0.667	2 3 0.66	5 3 1.667	2 0	2+ (0 0	1
Player Name	GB GN	W* AW IW	7 1* 1DB 1CI	2* 2GF	R 3	HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	1 С2 С3 СН ВООВ О	нв тв ю	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов О	тов/о ѕ	B SA	RBI
	Games	Walks	Singles	Doubles	Trpls	Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %				
▲ Name of Player Players shown in bold, co	lored font are cu	rrently Pegulars on o	Getting	g On	ı	1		Getting Out					Running Bases		Getting Gone			Averages				
Players shown in colored	font are current	y Subs on one or mor	re teams.		İ	Homers	KB = Strikeout - Out of Batter's Box	GO = Ground Out	FO = Fly Out	Other Outs UO = Unknor	vn Out	Getting Over S2 = Stole 2B	C2 = Caught Stealing Second		Ej = Ejection	Hits = 1+2+3+H	OB = On Base	▲ How Effectively You Hit TB = Total Bases	TOB = Time Or	n Base		
	▲ Games Play GB = Game B	atted	▲ Singles 1* = only straight Single			HR = Homer II HY = Homer (Over the Fence (Yard) KE = Strikeout - Batter Elsewhere	DP = Double Play	AKO = Automatic TKO	/ = Inning Er		S3 = Stole 3B SH = Stole Hom	C3 = Caught Stealing Third ne CH = Caught Stealing Home		In = Injury Su = Substitution		W+1+2+3+H PA = Plate Appearance		W+1+2+3+F Θ = BOOBs+C		.2	
	BN = Game I		1DB = Dead Ball Sin 1CI - Catcher Interfe	ronco	▲ Triple	es	KF = Strikeout - Fouls KI = Strikeout - Illegal Bat	TP = Triple Play	TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence		▲ Getting On PR = Pinch Ran		BOOB = Baserunner Out On E 0 = BOOBs+C2+C3+CH	ase	X = Unknown	BA = Batting Average	Walks+Hits+Outs OBP = On Base %age	Hits+Outs Slug = Slugging %age	ΤΟΒ/Θ		ow Often Sa Stolen Base	
		▲ Walks W* = only straight W	Valk	▲ Doubles 2* = only straig	3 = Trip aht Doub		KL = Strikeout - Looking KO = Strikeout - Unknown		TK3 = Triple Strikeout - Hit Over Fence		BB = Base Burgled X2 = Extra Inning		HB = Hit by batted Ball TB = Touched by Base coac							S2	!+S3+SH Steal Avera	
		AW = Assisted Wal IW - Intentional Wa	iit (Ooca)	2GR = Groun	id Rule D	ouble	KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging						IOB = Intentional Out on Ba	se						SE	B / (SB+C2-	+C3+CF
							KU = Strikeout Umpire's Discretion IOP = Intentional Out at the Plate													Runs You Di RBI = Runs		
							OE = Official Out Due to Ejection															

OE = Official Out Due to Ejection

	-		Getti	ng On	,					Getting Out	1			Ī			Running Base	S		Getting Gone				A	verages	,			
	Games	Walks	Singles	Doubles	Trpls	Homers	A	At the Plate		On the Ground		In the Air	r	Other	On	Over		Out		Exits	Battin	g Avg.	On Ba	se %	Sluggin	ng %			
Player Name	GB GN	W* AW I	W 1* 1DB 10	CI 2* 2GR	3	HR HY	KB KD KE KF F	KI KL KO KP K	S KU IOPOE	GO FC DP T	P FO LO	O AKO TKO	O TK2 TK3	uo /	PR BB X2	S2 S3 S1	H C2 C3 C	н воов О	HB TB IOI	B Ej In Su X	Hits	AB BA	OB P	A OBP	TB A	B Slug	тов О	TOB/O SB SA	A RBI
B.Oringderrf	M 1 0	0 -	0 1 0 0	0 0	1	0 2	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	4	4 1.000	4 4	4 1.000	12 4	3.000	2 0	2+ 0 (0 5
C.O'Toole	F 0 1	0 0	0 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	0	0.000	0 (0.000	0 0	0.000	0 0	0+ 0 (0 0
J.Ottinger	M 1 0	0 -	0 0 0	0 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	0 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	1	2 0.500	1 2	2 0.500	3 2	2 1.500	1 0	1+ 0	0 0
D.Paige	M 6 0	0 -	0 6 0 0	0 4 0	0	1 0	0 0 0 0	0 0 0 0	0 0 0 0	0 2 0 0	4 1	1 0 1	0 0	0 2	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	11	19 0.579	11 1	9 0.579	18 1	9 0.947	12 0	12+ 0 (0 7
W.Pailloz	M 2 0	0 -	0 1 0 0	0 0	1	2 0	0 0 0 0	0 0 0 0	0 0 0 0	1 1 0 0	1 0	0 0	0 0	0 2	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	4	7 0.571	4	7 0.571	12 7	7 1.714	3 0	3+ 0 (0 5
T.Palermino	M 1 0	1 -	0 1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	1	2 0.500	2 3	3 0.667	1 2	2 0.500	2 0	2+ 0 (0 1
J.Parker	M 1 0	0 -	0 2 0 0	0 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1 0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	3	4 0.750	3 4	4 0.750	5 4	1.250	4 0	4+ 0 (0 1
P.Parks	M 1 0	1 -	0 0 0	1 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	1	2 0.500	2 3	3 0.667	2 2	2 1.000	2 0	2+ 0 (0 2
D.Paulk	M 1 0	0 -	0 2 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 1 0	0 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	2	3 0.667	2 3	3 0.667	2 3	3 0.667	2 0	2+ 0 (0 1
D.Peters	M 2 0	2 -	0 1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1 0 0	1 1	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	1	4 0.250	3 6	6 0.500	1 4	0.250	4 0	4+ 0 (0 2
T.Pinto	M 1 0	0 -	0 2 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	2	2 1.000	2 2	2 1.000	2 2	2 1.000	2 0	2+ 0	0 0
S.Prachyl	M 21 1	2 -	0 29 0 0	0 4 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	11 10 3 0	8 4	1 0 0	0 0	0 8	0 0 0	0 0 0	0 0 0	1 1	0 0 0	0 0 0 0	34	70 0.486	36 7	2 0.500	40 7	0 0.571	46 1	46 0 0	0 16
J.Quiros	M 1 0	0 -	0 1 0 0	1 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	2	3 0.667	2 3	3 0.667	3 3	3 1.000	2 0	2+ 0 (0 3
K.Rachu	M 5 0	1 -	0 6 0 0	1 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1 0 0	4 4	1 0 0	0 0	0 2	4 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	8	17 0.471	9 1	8 0.500		7 0.647	10 0	10+ 0	0 5
J.Randall	M 9 0	1 -	0 11 0 (2 0	2	2 0	0 0 0 0	0 0 0 0	0 0 0 0	1 1 0 0	9 1	0 2	0 0	0 6	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	17	31 0.548	18 3	2 0.563	29 3	1 0.935	17 0	17+ 0 (0 14
N.Reeves	M 5 0	0 -	0 6 0 0	1 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1 0 0	7 0	0 0	0 0	0 3	0 0 0	0 0 0	0 0 0) 1 1	0 0 0	0 0 0 0	8	16 0.500	8 1	6 0.500	11 1	6 0.688	9 1	9 0 (0 7
M.Rivera	M 1 0	0 -	0 0 0 0	0 0	0	0 0	0 0 0 0	0 2 0 0	0 0 0 0	0 1 0 0	0 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	0	3 0.000	0 3	3 0.000	0 3	3 0.000	1 0	1+ 0 (0 0
J.Robinson	M 1 0	0 -	0 0 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	1 0 0 0	0 1 0 0	0 0	0 0	0 0	0 2	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	0	2 0.000	0 2	2 0.000	0 2	2 0.000	1 0	1+ 0 (0 0
K.Robinson	M 1 0	0 -	0 1 0 0	0 0	0	0 0	0 0 0 1	0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	1	3 0.333	1 3	3 0.333	1 3	3 0.333	1 0	1+ 0	0 0
S.Rubino	M 1 0	0 -	0 2 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0 1 0	1 0	0 0	0 0	0 1	0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	2	4 0.500	2 4	4 0.500	2 4	0.500	2 0	2+ 0	0 1
D.Russell	M 3 0	0 -	0 3 0 0	3 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 0 0 0		0 0		0 0	0 0 0	0 0 0			0 0 0	0 0 0 0	6	8 0.750	6 8	8 0.750	9 8	3 1.125	6 0	6+ 0 (0 1
1.Galley	M 11 1	<u> </u>		1 0	+ +		0 0 0 0	<u> </u>			+			<u> </u>			+		<u> </u>	1	+	34 0.559		35 0.571		4 0.647		22 0 (
J.Self	M 14 0		0 18 0 (1 0	+ +		0 0 0 1	i		0 4 0 0	+			<u> </u>			+	- 	<u>:</u>	1	+	+				-	33 1	-	0 32
M.Sharp	M 7 0	0 -	0 6 0 0	2 0	0		0 0 0 0	i			+			<u>!</u>		0 0 0		i	0 0 0		+	22 0.364		2 0.364		2 0.455		11 0 (
Player Name	GB GN Games		W 1* 1DB 10 Singles	CI 2* 2GR	1 1		KB KD KE KF F	KI KL KO KP K At the Plate	S KU IOPOE	GO FC DP TI On the Ground	FO LO			l '	PR BB X2 On	S2 S3 SI Over	H C2 C3 C	H BOOB 🖸 Out	нв тв ю	B Ej In Su X Exits		AB BA	OB P.			_	тов О	TOB/O SB SA	A RBI
A Name of Div	Games	vvaiks	Getti	Doubles ng On	1 rpis	Homers	4	At the Flate		Getting Out		In the Air	L .	Other	OII		 Running Base			Getting Gone		g Avg.	On Da		Sluggir verages	1g 70			
▲ Name of Player Players shown in bold, co			one or more teams.	ng Ou				Outs at the Plate		Outs on the Ground	▲ Outs in the	e Air		▲ Other Outs		▲ Getting Over		, G				n You Hit 🛕	How Often \			vely You Hit ▲	▲ How Often O	ut on Base	
Players shown in colored	a font are curren ▲ Games Pla GB = Game BN = Game	iyed Batted	▲ Singles 1* = only straight S 1DB = Dead Ball S 1CI - Catcher Inte t Walk Valk (Coed)	Single	Triples 3 = Triple	6 e	side the Park ver the Fence (Yard)	(B = Strikeout - Out of KD = Strikeout - Delay KE = Strikeout - Batter KF = Strikeout - Fouls KI = Strikeout - Illega KL = Strikeout - Loo KO = Strikeout - Un KP = Strikeout - Strikeout	of Game r r Elsewhere s il Bat king known epped on Plate	GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play	TK2 = Dou	out Omatic TKO keout - Hit Over	Fence Hit Over Fence		ing Out ▲ Getting On PR = Pinch Ran BB = Base Burgl	S3 = Stole 3B SH = Stole Hor	ne CH = Caught S BOOB = Base Ø = BOOBs+ HB = Hit by t TB = Touche	tealing Third Stealing Home erunner Out On E C2+C3+CH	Base h	Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2+ AB = At BA Hits+ BA = Batti	At Outs ng Average	Walks+	e T +3+H opearance / Hits+Outs ase %age	Hits+Ou	3)+(Hx4) its	FOB = Time O W+1+2+3+β Θ = BOOBs+C TOB/Θ	FC+PR+BB+X2 C2+C3+CH ▲ How Of SB = Stolen S2+S3+: SA = Steal	+SH
								KU = Strikeout Ur IOP = Intentional OF = Official Ou	npire's Discretion Out at the Plate																			Runs You Drive In RBI = Runs Batte	

	•		Getting	g On	,			Getting Out				R	Running Bases	(Getting Gone			Averages			
	Games	Walks	Singles	Doubles	Trpls	Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out		Exits	Batting Avg.	On Base %	Slugging %			
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3	HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB ()	HB TB IOB I	Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB	Θ SB SA	RBI
K.Shelton M	И 1 0	0 - 0	2 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0 0 0	0 0	1 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 4 0.750	3 4 0.750	4 4 1.000	3 0 3+	0 0	4
Sc.Sherwin M	и 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 3 0.000	0 3 0.000	0 3 0.000	0 0 0+	0 0	0
Sh.Sherwin M	И 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+	0 0	0
B.Shumaker M	И 7 0	4 - 0	7 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 1 0	5 2 0 0 0 0	0 3	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	8 17 0.471	12 21 0.57	9 17 0.529	13 0 13+	0 0	5
J.Silverio M	Л 2 0	0 - 0	2 0 0	0 0	2	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	4 6 0.667	4 6 0.667	8 6 1.333	5 0 5+	0 0	2
I.Smith M	И 7 0	0 - 0	2 0 0	5 0	2	0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 1 0 0	7 1 0 1 0 0	0 3	1 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	9 21 0.429	9 21 0.429	18 21 0.857	10 0 10+	0 0	7
M.Smith M	98 Seeve	1																			
C.Sorto M	И 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 1 0 0 0	1 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	3 0.333	1 0 1+	0 0	1
S.Stallworth M	И 1 0	0 - 0	3 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 3 1.000	3 3 1.000	3 3 1.000	3 0 3+	0 0	1
D.Starnes M	И 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 3 0.000	0 3 0.000	0 3 0.000	0 0 0+	0 0	0
E.Steele N	A 25 0	1 - 0	36 1 0	4 0	1	1 3	0 0 0 0 0 0 0 0 0 0 0	9 6 1 0	28 0 0 0 0 0	0 18	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0	46 90 0.511	47 91 0.516	64 90 0.711	49 0 49+	0 0	39
R.Stewart N	И 5 O	1 - 0	8 0 0	1 0	1	0 0	0 0 0 1 0 0 0 0 0 0 0 0	1 1 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	10 14 0.714	11 15 0.733	13 14 0.929	12 1 12	0 0	5
J.Sullivan M	M 2 0	0 - 0	3 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	2 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	3 6 0.500	3 6 0.500	3 6 0.500	3 0 3+	0 0	1
R.Swancott N	A 15 0	3 - 0	12 0 0	7 0	5	0 0	0 0 0 0 0 0 0 0 0 0 0	2 0 0 0	12 4 0 8 0 0	0 6	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0 0	24 50 0.480	27 53 0.509	41 50 0.820	27 1 27	0 0	17
JJ.Szokody N	Scheller M 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0																			
J.Teeter N	И 1 0	0 - 0	0 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 2 0.500	1 2 0.500	2 2 1.000	1 0 1+	0 0	0
Sc.Shereshi M 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	9 12 0.750	10 13 0.769	12 12 1.000	10 1 10	0 0	2														
B.Thompson M	И 2 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	2 1 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 5 0.000	0 5 0.000	0 5 0.000	1 0 1+	0 0	0
J.Thrash M	И 10 0	3 - 0	18 0 0	4 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	2 2 0 0	7 0 0 0 0 0	0 6	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	22 33 0.667	25 36 0.69 ²	26 33 0.788	27 0 27+	0 0	9
T.Thrasher M	И 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+	0 0	0
V.Tuccillo M	И 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	2 0 0 0 0 0	0 2	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+	0 0	1
C.Tyson M	И 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	4 0 0 0 0 0	0 1	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	0 4 0.000	0 4 0.000	0 4 0.000	0 0 0+	0 0	1
D.Umphenour M	и 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0 0 0 0 0	1 0 0 0	1 0 0 0 0 0	0 0	0 0 0	0 0 0	0 0 0 0 0	0 0 0	0 0 0 0	1 3 0.333	1 3 0.333	1 3 0.333	1 0 1+	0 0	0
S.Walker M	И 6 0	1 - 0	7 0 0	7 0	0	0 1	0 0 0 0 0 0 0 0 0 0 0 0	2 1 1 0	4 0 0 0 0 0	0 6	0 0 0	0 0 0	0 0 0 1 1	0 0 0	0 0 0	15 23 0.652	16 24 0.667	25 23 1.087	16 1 16	0 0	18
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3	HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo /	PR BB X2	S2 S3 SH	C2 C3 CH BOOB O I	нв тв юв б	i In Su X		OB PA OBP	TB AB Slug	тов О тов	Θ SB SA	RBI
	Games	Walks			Trpls	Homers	At the Plate		In the Air	Other	On						On Base %	Slugging %			
	orod font are cu	rrontly Pogulars on on		g On	ı	ı			• • • • •												4
Players shown in colored for	font are current	Subs on one or more	e teams.	1		Homers	KB = Strikeout - Out of Batter's Box	GO = Ground Out	FO = Fly Out	UO = Unknov	n Out	S2 = Stole 2B	C2 = Caught Stealing Second	Ej	= Ejection	Hits = 1+2+3+H	OB = On Base	TB = Total Bases	TOB = Time On Base		1
	▲ Games Play					HR = Homer Ir	iside the rank			/ = Inning En	ding Out	S3 = Stole 3B	C3 = Caught Stealing Third								1
			1DB = Dead Ball Sing	gle	1		KF = Strikeout - Fouls		TKO = Strikeout - Hit Over Fence		▲ Getting On	OIT CLOIC FIORI	BOOB = Baserunner Out On Bas			BA = Batting Average	Walks+Hits+Outs	Hits+Outs			∣ en Safe Si
		▲ Walks		HEIICE			KI = Strikeout - Illegal Bat KL = Strikeout - Lookina		1K2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence			d	⊕ = BOOBs+C2+C3+CH HB = Hit by batted Ball				OBP = On Base %age	Slug = Slugging %age		SB = Stolen Ba	Base
		W* = only straight W	air	Doubles			KO = Strikeout - Unknown						TB = Touched by Base coach								
			(0000)	2GR = Ground	d Rule Do	ouble							IOB = Intentional Out on Base							SB / (SB+	+C2+C3+
							KU = Strikeout Umpire's Discretion												Runs	You Drive In	A

				Getting Out											Running Bases						Getting (Getting Gone				Averages														
	Games	Walks	Singles	Doubles	Trpls	Homers			At the Pla	ate			On the G	Fround		In th	e Air		Other	On		Over			Out			Exits	;	Battir	ng Avg.	Oı	n Base %	, ,	Slugging %	,		ļ		
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3	HR HY	KB KD	KE KF	KI KL K	O KP I	KS KU IOI	POE	GO FC	DP TP	FO L	O AKO	тко тка	2 TK3	uo /	PR BI	B X2	S2 S3 S	H C2 (СЗ СН	BOOB (Э нв	TB IOI	Ej In S	u X	Hits	AB BA	OB	PA O	BP T	B AB S	lug	OB O	ΤΟΒ/Θ	SB S/	A R
M.Waller M	25 0	3 - 0	30 0 0	12 0	3	0 0	0 0	0 0	0 0	0 0	0 0 0	0	7 5	1 0	19 2	2 0	1 0	0	0 12	0 0	0	0 0	0 0	0 0	1 '	1 0	0 0	0 0 0	0	45	80 0.56	3 48	83	0.578 63	3 80 0	0.788	53 1	53	0 (0 1
J.Walters M	2 0	0 - 0	3 0 0	1 0	1	0 0	0 0	0 1	0 0 (0 0	0 0 0	0	1 0	0 0	0 (0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	5	7 0.71	4 5	7	0.714 8	7 .	1.143	5 0	5+	0 ()
D.Warren M	1 0	0 - 0	0 0 0	1 0	0	0 0	0 0	0 1	0 0	0 0	0 0 0	0	0 0	0 0	0 (0 0	0 0	0	0 1	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	1	2 0.50	0 1	2	0.500 2	2	1.000	1 0	1+	0 ()
K.Waters M	4 0	0 - 0	4 0 0	1 0	1	0 0	0 0	0 0	0 0	0 0	0 0 0	0	4 2	0 0	2 (0 0	0 0	0	0 4	0 0	0	0 0	0 0	0 0	1 '	1 0	0 0	0 0 0	0	6	14 0.42	9 6	14	0.429 \$) 14 (0.643	8 1	8	0 ()
W.Webb M	5 0	1 - 0	7 0 0	0 0	0	0 0	0 0	0 1	0 0	0 0	0 0 0	0	0 0	0 0	5	1 0	0 0	0	0 5	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	7	14 0.50	0 8	15	0.533 7	7 14 (0.500	8 0	8+	0 ()
E.Whitaker M	0 1	0 - 0	0 0 0	0 0	0	0 0	0 0	0 0	0 0	0 0	0 0 0	0	0 0	0 0	0 (0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	0	0 0.00	0 0	0	0.000 (0 (0.000	0 0	0+	0 ()
D.Williams M	1 0	0 - 0	2 0 0	0 0	0	0 0	0 0	0 0	0 0	0 0	0 0 0	0	1 0	0 0	0 (0 0	0 0	0	0 1	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0) 1	2	3 0.66	7 2	3	0.667 2	3 (0.667	2 0	2+	0 ()
G.Williams M	30 0	5 - 0	36 0 0	12 0	1	1 0	0 0	0 0	0 0	0 0	0 0 0	0	9 9	1 0	18 3	3 0	1 0	0	0 18	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	50	91 0.54	9 55	96	0.573 67	7 91 0	0.736	63 0	63+	0 (0 3
T.Williams M	3 0	0 - 1	2 0 0	1 0	0	0 0	0 0	0 0	0 0	0 0	0 0 0	0	2 0	0 0	1 (0 0	1 0	0	0 2	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	3	7 0.42	9 4	8	0.500 4	, 7 (0.571	4 0	4+	0 (J
C.Winston M	4 0	0 - 0	3 0 0	0 0	0	0 0	0 0	0 0	0 0	0 0	0 0 0	0	0 1	0 0	6	1 0	0 0	0	0 2	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	3	11 0.27	3 3	11 (0.273 3	11 /	0.273	4 0	4+	0 /)
M.Wright M	28 0	5 - 0	31 0 0	9 0	1	0 0	0 0	0 3	0 1 (0 0	1 0 0	0	14 1	0 0	29	1 0	0 0	0	0 24	0 0	0	0 0	0 0	0 0	4 4	4 0	0 0	0 0 0	0	41	91 0.45	1 46	96	0.479 52	2 91 0	0.571	47 4	11.75	0 0) <i>1</i>
S.Wright F	5 0	1 0 0	4 0 0	0 0	0	0 0	0 0	0 0	0 0	0 0	0 0 0	0	1 0	0 0	0	1 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	1 '	1 0	0 0	0 0 0	0	4	6 0.66	7 5	7	0.714 4	6 1	0.667	5 1	5	0 /	0 (
P.Zajdel M	1 0	0 - 0	0 0 0	0 0	0	0 0	0 0	0 0	0 0	0 0	0 0 0	0	0 2	0 0	1 (0 0	0 0	0	0 0	0 0	0	0 0	0 0	0 0	0 (0 0	0 0	0 0 0	0	0	3 0.00	0 0	3	0.000 0	3 /	0.000	2 0	2+	0 /)
J.Mendoza	23 0	6 0 0	28 0 0	8 0	3	1 0	0 0	0 0	0 0	0 0	0 0 0	0	7 5	1 0	17 :	3 0	0 0	0	0 11	1 0	0	0 0	0 0	0 0	1 '	1 0	0 0	0 0 0	0	40	73 0.54	4 46	79	0.577 57	7 73 (0.779	49 1	10.00	n/a n/	/a :
Team Totals		1704 0 21	8400 8 1	2316 5	901	306 40	3 0	0 ###	0 ### 3	3 9 (66 0 3	2 2	025 1463	8 ### 0	5090 8°	18 0	71 0	0	0 3348	227 0	0	2 1	1 0	0 0	445 44	45 6	1 1	7 3 1	12 1	1977 2	22006 0.54	4 13702	23731	0.577 171	38 22006 0	0.779 1	4819 445	10	n/a n/	/a 8:

(301=297m+4f) Team by Year - League - CB - Extended

Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	3	HR HY	KB KD KE KF KI	KL KO KP KS	KU IOPOE GO	FC DP TP	FO LO AKO TKO TK2 TI	3 UO /	PR BB X2	S2 S3 SH	С2 C3 CH BOOB Ө HB	TB IOB Ej In Su	X Hits AB BA	OB PA OBP	TB AB Slug	TOB O TOB/O SB SA	A RBI
	Games	Walks	Singles	Doubles	Trpls	Homers	A	t the Plate	Oı	n the Ground	In the Air	Other	On	Over	Out	Exits	Batting Avg.	On Base %	Slugging %		
▲ Name of Player			Getting	ng On				Getting Out						R	Running Bases	Getting Gon	e		Averages		
	ont are currently ▲ Games Play GB = Game Ba BN = Game N	Subs on one or more ed atted	teams. A Singles 1* = only straight Singl 1DB = Dead Ball Sing 1CI - Catcher Interfer alk (Coed)	le	For the second of the second o		KB KC KC KVer the Fence (Yard)	Outs at the Plate = Strikeout - Out of Bat 0 = Strikeout - Delay of 0 E = Strikeout - Batter Ele F = Strikeout - Fouls (I = Strikeout - Lllegal Ba KL = Strikeout - Looking KO = Strikeout - Unkno KP = Strikeout - Steing KS = Strikeout - Swing KU = Strikeout - Umpir IOP = Intentional Ou OE = Official Out Du	ter's Box GO = Game FC = sewhere DP = TP = at G Dwn led on Plate ging re's Discretion tt at the Plate	ts on the Ground Ground Out Fielder's Choice Double Play Triple Play	▲ Outs in the Air FO = Fly Out LO = Line Out AKO = Automatic TKO TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fer TK3 = Triple Strikeout - Hit Over Fence	ice	n Out	S3 = Stole 3B SH = Stole Home	▲ Getting Out C2 = Caught Stealing Second C3 = Caught Stealing Third BCH = Caught Stealing Home BOOB = Baserunner Out On Base Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coach IOB = Intentional Out on Base	▲ Getting Gone Ej = Ejection In = Injury Su = Substitutior X = Unknown	Hits = 1+2+3+H AB = At BAt	OB = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs	,	SB = Stolen B S2+S3+S SA = Steal A	SH Average 3+C2+C3+CH)